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MM : 720 FINAL TEST SERIES for NEET-2021 Time : 3.00 Hrs. 

Test - 5 

Topics covered : 

Physics : fo|qr vkos'k rFkk {ks=] fLFkj oS|qr foHko rFkk /kkfjrk    

Chemistry : dkcZfud jlk;u ¼dqN vk/kkjHkwr fl)kar rFkk rduhdsa½] gkbMªksdkcZu] i;kZoj.kh; jlk;u 

Botany :  ikniksa eas “olu] ikni o`f) rFkk fodkl] thoksa esa tuu   

Zoology : raf=dh; fu;a=.k ,oa leUo;] jlk;fud leUo; rFkk ,dhdj.k 

funsZ'k : 

(i) mi;qDr xksys dks Hkjus ds fy, dsoy uhys@dkys ckWy isu dk ç;ksx djsaA 

(ii) fpUg xgjs gksus pkfg, rFkk xksys dks iw.kZr% Hkjk tkuk pkfg,A 

(iii) çR;sd çfof"V ds fy, dsoy ,d xksyk HkjsaA 

(iv) xksys dks dsoy fn, x, LFkku esa gh HkjsaA 

(v) mÙkj iqfLrdk ij jQ dk;Z fcYdqy ugha djuk pkfg, rFkk mÙkj iqfLrdk ij 'osr&nzo ;k vU; fdlh feVkus okys 

inkFkZ dk ç;ksx u djsaA 

(vi) çR;sd ç'u ds 4 vad gSaA çR;sd xyr mÙkj ds fy, dqy çkIrkadksa esa ls ,d vad ?kVk fn;k tk,xkA 

 

PHYSICS 

Choose the correct answer: 

1. If charge on a body is 2 nC, then how many 

electrons are absent from the body? 

 (1) 1.5 × 1027 (2) 1.25 × 1028 

 (3) 1.25 × 1010 (4) 1.6 × 1019 

2. Two small spherical shells have charges 9 C and 

6 C separated by a distance r, experience a force 

F. When a charge of 3 C is given to each sphere 

and kept at same distance as before. The new 

force of repulsion becomes 

 (1) 
2

F
 (2) 2F 

 (3) 3F (4) 
4

F
 

lgh mRrj dk p;u dhft,% 

1. ;fn fi.M ij vkos'k 2 nC gS] rc fi.M ls fdrus 

bysDVªkWu vuqifLFkr gSa\ 

 (1) 1.5 × 1027 (2) 1.25 × 1028 

 (3) 1.25 × 1010 (4) 1.6 × 1019 

2. vkos'k 9 C rFkk 6 C okys nks NksVs xksyh; dks'kksa ds 

e/; nwjh r gS] tc izR;sd xksys dks 3 C dk vkos'k 

iznku fd;k tkrk gSA rc ;s cy F dk vuqHko djrs gSa 

rFkk bUgsa igys dh rjg leku nwjh ij j[kk tkrk gS] 

rc uohu izfrd"kZ.k cy gks tkrk gS  

 (1) 
2

F
 (2) 2F 

 (3) 3F (4) 
4

F
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3. Four charges q, q, –q, –q are placed on 

circumference of a circle of radius R as shown in 

the figure. What is electrostatic force on q0 placed 

at the centre of the circle? 

 

 (1) 0

2
02 2

qq

R 
 (2) 0

2
0

8

4

qq

R
 

 (3) 0

2
0

2

4

qq

R
 (4) 0

2
02 2

qq

R
 

4. A charge particle having charge 4 × 10–3 C moves 

from state of rest in uniform electric field of 

magnitude 5 × 103 V/m. What is its KE after 10 

second? (m = 2 × 10–9 kg) 

 (1) 1013 J (2) 109 J 

 (3) 5 × 1012 J (4) 1014 J 

5. A conducting sphere of radius 10 cm has an 

unknown charge. The electric field at 30 cm from 

the surface of shell is 3.6 × 103 N/C and points 

radially outwards. What is total charge on the 

sphere? 

 (1) 16 nC (2) 32 nC 

 (3) 64 nC (4) 42 nC 

6. The electric field lines in a region is shown in the 

figure. EA, EB and EC are the electric field strength 

at points A, B and C respectively. Then 

 

 (1) A B CE E E   (2) C A BE E E   

 (3) A C BE E E   (4) B A CE E E   

7. If 1 2andE E  be respective electric fields at 

equatorial position and axial position of electric 

dipole at same distance, then 

 (1) 1 2 0E E   (2) 1 2 0E E   

 (3) 1 2 0E E   (4) 1 2 0E E   

3. pkj vkos'kksa q, q, –q, –q dks fp= esa n'kkZ, vuqlkj  R 

f=T;k ds ,d o`Ùk dh ifjf/k ij j[kk tkrk gSA o`Ùk ds 

dsUnz ij j[ks q0 ij fLFkj oS|qr cy D;k gS\ 
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4. vkos'k 4 × 10–3 C okyk ,d vkos'k d.k fojkekoLFkk ls 

5 × 103 V/m ifjek.k ds ,dleku fo|qr {ks= esa xfr 

djrk gSA 10 lsd.M ds ckn bldh xfrt ÅtkZ D;k 

gS\ (m = 2 × 10–9 kg) 

 (1) 1013 J (2) 109 J 

 (3) 5 × 1012 J (4) 1014 J 

5. 10 cm f=T;k ds ,d pkyd xksys ij ,d vKkr 

vkos'k gSA dks'k dh lrg ls 30 cm ij fo|qr {ks=  

3.6 × 103 N/C gS rFkk f=T; :i ls ckgj dh vksj 

funsZf'kr gksrk gSA xksys ij dqy vkos'k D;k gS\ 

 (1) 16 nC (2) 32 nC 

 (3) 64 nC (4) 42 nC 

6. fp= esa fdlh {ks= esa fo|qr {ks= js[kk,sa n'kkZ;h x;h gSA 

EA, EB rFkk EC fcUnqvksa Øe'k% A, B rFkk C ij fo|qr 

{ks= lkeF;Z gSaA rc  

 

 (1) A B CE E E   (2) C A BE E E   

 (3) A C BE E E   (4) B A CE E E   

7. ;fn 1 2E ErFkk  leku nwjh ij fo|qr f}/kzqo dh 

fuj{kh; fLFkfr rFkk v{kh; fLFkfr ij laxr fo|qr {ks= 

gSa] rc   

 (1) 1 2 0E E   (2) 1 2 0E E   

 (3) 1 2 0E E   (4) 1 2 0E E   



(3) 

8. A charge Q is distributed uniformly on a ring of 

radius R. A point charge q is placed on axis at 

distance 2R from centre of the ring. The force 

experienced by point charge at given position is 

 (1) Zero (2) 
2

08

Qq

R
 

 (3) 
2

016 5

Qq

R
 (4) 

2
010 5

Qq

R
 

9. The electric field in a region of space is 

 4 3 kN/C  E i j k . The electric flux due to this 

field over an area  i j  m2 is 

 (1) 2 × 103 N m2 C–1 (2) 4 × 103 N m2 C–1 

 (3) –3 × 103 N m2 C–1 (4) 3 × 103 N m2 C–1 

10. Dipole moment of the arrangement of the charges 

shown in figure is 

 

 (1) 2qai  (2) qai  

 (3) 2qai  (4) qai  

11. When an electric dipole is placed in uniform electric 

field, a couple acts on it. The moment of couple will 

be maximum when dipole is placed 

 (1) Along the direction of electric field 

 (2) Opposite to direction of electric field 

 (3) At some acute angle with the electric field 

 (4) Perpendicular to direction of electric field 

12. A point charge 8.85 × 10–12 C is placed at one 

corner of a cube. The electric flux passing through 

the cube is 

 (1) 1 N m2 C–1 (2) 2 11
N m C

6

  

 (3) 2 11
N m C

8

  (4) 2 11
N m C

24

  

8. ,d vkos'k Q dks R f=T;k dh ,d oy; ij ,dleku 

:i ls forfjr fd;k tkrk gSA ,d fcUnq vkos'k q dks 

oy; ds dsUnz ls 2R nwjh ij v{k ij j[kk tkrk gSA 

nh xbZ fLFkfr ij fcUnq vkos'k }kjk vuqHko fd;k x;k 

cy gS  

 (1) 'kwU; (2) 
2

08

Qq

R
 

 (3) 
2

016 5

Qq

R
 (4) 

2
010 5

Qq

R
 

9. fdlh f=foe {ks= esa fo|qr {ks=  4 3 kN/C  E i j k  

gSA bl {ks= ds dkj.k {ks=  i j  m2 ij fo|qr ¶yDl 

gS  

 (1) 2 × 103 N m2 C–1 (2) 4 × 103 N m2 C–1 

 (3) –3 × 103 N m2 C–1 (4) 3 × 103 N m2 C–1 

10. fp= esa n'kkZ, vkos'kksa ds leatu dk f}/kzqo vk?kw.kZ gS  

 

 (1) 2qai  (2) qai  

 (3) 2qai  (4) qai  

11. tc ,d fo|qr f}/kzqo dks ,dleku fo|qr {ks= esa j[kk 

tkrk gS] rc bl ij ,d cy;qXe dk;Z djrk gSA cy 

;qXe dk vk?kw.kZ vf/kdre gksxk] tc f}/kzqo dks  

 (1) fo|qr {ks= dh fn'kk ds vuqfn'k j[kk tkrk gS  

 (2) fo|qr {ks= dh fn'kk ds foijhr j[kk tkrk gS  

 (3) fo|qr {ks= ds lkFk fdlh U;wudks.k ij j[kk tkrk 

gS 

 (4) fo|qr {ks= dh fn'kk ds yEcor~ j[kk tkrk gS 

12. ,d fcUnq vkos'k 8.85 × 10–12 C dks ?ku ds ,d 'kh"kZ ij 

j[kk tkrk gSA ?ku ls xqtjus okyk fo|qr ¶yDl gS 

 (1) 1 N m2 C–1 (2) 2 11
N m C

6

  

 (3) 2 11
N m C

8

  (4) 
2 11

N m C
24


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13. A short electric dipole of dipole moment 12 C m is 

placed along x-axis with its centre at origin. The 

electric potential at a point (4, 0)m due to given 

dipole is 

 (1) 2.25 kV (2) 6.75 kV 

 (3) 4 kV (4) 9.50 kV 

14. Two point charges 10 C and 4 C are placed 

20 cm apart. The electrostatic potential energy of 

the system is 

 (1) 2.4 J (2) 1.8 J 

 (3) 3.6 J (4) 4.8 J 

15. An infinite line charge produces an electric field of 

18 × 105 N/C at perpendicular distance of 

4 cm. What is linear charge density? 

 (1) 4 C/m 

 (2) 6 C/m 

 (3) 9 C/m 

 (4) 2 C/m 

16. If electric field E  is zero at a point, then electric 

potential V at that point 

 (1) Must be zero 

 (2) May be non-zero 

 (3) May be zero 

 (4) Both (2) and (3) 

17. Figure shows the variation of electric field intensity 

E versus distance x. The magnitude of potential 

difference between the points x = 0 to x = 5 m is 

 

 (1) 30 volt (2) 60 volt 

 (3) 40 volt (4) 50 volt 

13. f}/kzqo vk?kw.kZ 12 C m ds ,d y?kq fo|qr f}/kzqo dks  

x-v{k ds vuqfn'k bl izdkj j[kk tkrk gS fd bldk 

dsUnz ewy fcUnq ij gksA fn, x, f}/kzqo ds dkj.k ,d 

fcUnq (4, 0)m ij fo|qr foHko gS  

 (1) 2.25 kV (2) 6.75 kV 

 (3) 4 kV (4) 9.50 kV 

14. nks fcUnq vkos'kksa 10 C rFkk 4 C dks ,d nwljs ls  

20 cm dh nwjh ij j[kk tkrk gSA fudk; dh fLFkj 

oS|qr fLFkfrt ÅtkZ gS  

 (1) 2.4 J (2) 1.8 J 

 (3) 3.6 J (4) 4.8 J 

15. ,d vuUr js[kk vkos'k 4 cm dh yEcor~ nwjh ij  

18 × 105 N/C dk fo|qr {ks= mRiUu djrk gSA js[kh; 

vkos'k ?kuRo D;k gS\ 

 (1) 4 C/m 

 (2) 6 C/m 

 (3) 9 C/m 

 (4) 2 C/m 

16. ;fn ,d fcUnq ij fo|qr {ks= E  'kwU; gS] rc bl fcUnq 

ij fo|qr foHko V  

 (1) 'kwU; gksuk pkfg,  

 (2) v'kwU; gks ldrk gS  

 (3) 'kwU; gks ldrk gS  

 (4) (2) rFkk (3) nksuksa 

17. fp= esa fo|qr {ks= dh rhozrk E rFkk nwjh x ds e/; 

ifjorZu dk vkjs[k n'kkZ;k x;k gSA fcUnqvksa x = 0 ls  

x = 5 m ds e/; foHkokUrj dk ifjek.k gS  

 

 (1) 30 oksYV (2) 60 oksYV 

 (3) 40 oksYV (4) 50 oksYV 
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18. Figure shows a set of equipotential surfaces. The 

magnitude and direction of electric field that exists 

in the region will be 

 

 (1) 10 V/m along positive x-axis 

 (2) 5 V/m along positive y-axis 

 (3) 50 V/m along negative x-axis 

 (4) 500 V/m along negative x-axis 

19. In the circuit shown in figure, the applied potential 

difference between points A and B is 100 V then 

potential difference across 6 F capacitor is 

 

 (1) 50 V (2) 40 V 

 (3) 20 V (4) 0 V 

20. Four capacitors each of capacitance C and 

breakdown voltage V are joined in series. The 

effective capacitance and breakdown voltage of 

combination is 

 (1) ,
4 4

C V
 (2) , 4

4

C
V  

 (3) 4C, 4V (4) ,
4

V
C  

21. Two charges 50 C and 2.5 C are 20 cm apart as 

shown in figure. The work done in displacing 

charge 2.5 C from point B to C is 

 

 (1) –3.2 J (2) –1.12 J 

 (3) 1.5 J (4) –2.5 J 

18. fp= esa lefoHko i`"Bksa dk ,d leqPp; n'kkZ;k x;k gSA 

{ks= esa mifLFkr fo|qr {ks= ds ifjek.k rFkk fn'kk gksaxs   

 

 (1) /kukRed x-v{k ds vuqfn'k 10 V/m 

 (2) /kukRed y-v{k ds vuqfn'k 5 V/m 

 (3) _.kkRed x-v{k ds vuqfn'k 50 V/m 

 (4) _.kkRed x-v{k ds vuqfn'k 500 V/m 

19. fp= esa n'kkZ,a ifjiFk esa] fcUnqvksa A rFkk B ds e/; 

vkjksfir foHkokUrj 100 V gS] rc 6 F ds la/kkfj= ds 

fljksa ij foHkokUrj gS  

 

 (1) 50 V (2) 40 V 

 (3) 20 V (4) 0 V 

20. /kkfjrk C rFkk Hkatu oksYVrk V ds pkj la/kkfj=ksa dks 

Js.kh esa tksM+k tkrk gSA la;kstu dh izHkkoh /kkfjrk rFkk 

Hkatu oksYVrk gS  

 (1) ,
4 4

C V
 (2) , 4

4

C
V  

 (3) 4C, 4V (4) ,
4

V
C  

21. nks vkos'kksa 50 C rFkk 2.5 C fp= esa n'kkZ,a vuqlkj 

,d nwljs ls 20 cm dh nwjh ij gSA vkos'k 2.5 C dks 

fcUnq B ls C rd foLFkkfir djus esa fd;k x;k dk;Z gS   

 

 (1) –3.2 J (2) –1.12 J 

 (3) 1.5 J (4) –2.5 J 
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22. Charge stored on 4 F capacitor is 

 

 (1) 120 C (2) 20C 

 (3) 10C (4) 30C 

23. Two protons each of mass m and charge e are held 

at rest at distance 1 m apart in air. The maximum 

velocity acquired by each proton after release is 

0

1

4
k
 

 
 

 

 (1) 
2k

e
m

 (2) 
k

e
m

 

 (3) 
2

k
e

m
 (4) 

2k

m
 

24. A 20 F capacitor is charged to 1 kV potential and 

then its plates are connected by a conducting wire. 

How much heat would be produced? 

 (1) 5 J (2) 10 J 

 (3) 15 J (4) 20 J 

25. A capacitor of capacitance C1 = 1 F is charged to 

a potential of 100 V, the charging battery is then 

removed and it is connected to another capacitor of 

capacitance C2 = 2 F in parallel. The charges on 

C1 and C2 in steady state are 

 (1) 
100 200

C, C
3 3

   

 (2) 50 C, 50 C 

 (3) 100 C, 0 

 (4) Zero, zero 

26. A 500 eV electron is fired directly towards a large 

metal plate having surface charge density 

–8.85 × 10–6 C m–2. The distance from where the 

electron be projected so that it just fails to strike the 

plate is 

 (1) 0.2 mm (2) 0.33 mm 

 (3) 0.5 mm (4) 1.21 mm 

22. 4 F ds la/kkfj= ij laxzfgr vkos'k gS  

 

 (1) 120 C (2) 20C 

 (3) 10C (4) 30C 

23. leku nzO;eku m rFkk vkos'k e ds nks izksVkWuksa dks ok;q 

esa ,d nwljs ls 1 m dh nwjh ij fojke esa j[kk tkrk 

gSA NksM+s tkus ds ckn izR;sd izksVkWu }kjk izkIr fd;k 

x;k vf/kdre osx gS 

0

1

4
k
 

 
 

 

 (1) 
2k

e
m

 (2) 
k

e
m

 

 (3) 
2

k
e

m
 (4) 

2k

m
 

24. 20 F ds ,d la/kkfj= dks 1 kV foHko rd vkosf'kr 

fd;k tkrk gS rRi'pkr~ bldh IysVksa dks ,d pkyd 

rkj }kjk la;ksftr fd;k tkrk gSA fdruh Å"ek 

mRiUu gksxh\  

 (1) 5 J (2) 10 J 

 (3) 15 J (4) 20 J 

25. /kkfjrk C1 = 1 F ds ,d la/kkfj= dks 100 V ds foHko 

rd vkosf'kr fd;k tkrk gS] fQj vkos'ku cSVjh dks 

gVk;k tkrk gS rFkk bls /kkfjrk C2 = 2 F ds vU; 

la/kkfj= ls lekUrj esa la;ksftr fd;k tkrk gSA LFkk;h 

voLFkk esa C1 rFkk C2 ij vkos'k gSa  

 (1) 
100 200

C, C
3 3

   

 (2) 50 C, 50 C 

 (3) 100 C, 0 

 (4) 'kwU;] 'kwU; 

26. 500 eV ds ,d bysDVªkWu dks i`"Bh; vkos'k ?kuRo  

–8.85 × 10–6 C m–2 okyh ,d cM+h /kkfRod IysV dh 

vksj lh/ks nkxk tkrk gSA og nwjh D;k gksxh tgk¡ ls 

bysDVªkWu dks bl izdkj iz{ksfir fd;k x;k Fkk rkfd 

;g IysV ls Vdjkus esa Bhd vlQy gks tk,\  

 (1) 0.2 mm (2) 0.33 mm 

 (3) 0.5 mm (4) 1.21 mm 
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27. A solid conducting sphere of radius 10 cm is 

enclosed by a thin metallic shell of radius 20 cm. A 

charge Q = 20 C is given to the inner sphere, now 

inner sphere is connected to the shell by a 

conducting wire, the amount of heat generated in 

process is 

 (1) 6 J (2) 9 J 

 (3) 12 J (4) 14 J 

28. Two parallel infinite line charges  and – are 

placed at a separation 2a in free space. The net 

electric field intensity exactly midway between two 

line charges is 

 (1) Zero (2) 
0a




 

 (3) 
02 a




 (4) 

0

2

a




 

29. Two points P and Q are maintained at potential of 8 

V and –7 V respectively. The work done in moving 

105 electrons from P to Q is 

 (1) 2.4 × 10–13 J (2) 1.6 × 10–13 J 

 (3) –1.6 × 10–13 J (4) –2.4 × 10–13 J 

30. 1000 droplets of mercury each of potential 5 volt 

and radius R combine to form a big drop. The 

potential of big drop is 

 (1) 500 V (2) 50 V 

 (3) 1000 V (4) 100 V 

31. Two identical thin rings, each of radius 10 cm 

carrying charge 10 C and 5 C are co-axially placed 

at distance 10 cm apart. The work done in moving a 

charge q from the centre of first ring to that of 

second ring is 

 (1) 2

0

2 1
10 J

4 2

q  
 

  
 

 (2) 2

0

1 2
10 J

8 2

 
 

  

q
 

 (3) 2

0

2 1
10 J

8 2

q  
 

  
 

 (4) 2

0

2 1
10 J

4 2

q  
 

  
 

27. 10 cm f=T;k dk ,d Bksl pkyd xksyk 20 cm f=T;k 

ds ,d irys /kkfRod dks'k ls f?kjk gSA vkUrfjd xksys 

dks ,d vkos'k Q = 20 C iznku fd;k tkrk gS] vc 

vkUrfjd xksys dks ,d pkyd rkj }kjk dks'k ls 

la;ksftr fd;k tkrk gS] rc izfØ;k esa mRiUu Å"ek 

dh ek=k gS    

 (1) 6 J (2) 9 J 

 (3) 12 J (4) 14 J 

28. nks lekUrj vuUr js[kk vkos'kksa  rFkk – dks eqDr 

f=foe esa 2a nwjh ij j[kk tkrk gSA nksuksa js[kk vkos'kksa 

ds Bhd e/; esa usV fo|qr {ks= rhozrk gS   

 (1) 'kwU; (2) 
0a




 

 (3) 
02 a




 (4) 

0

2

a




 

29. nks fcUnqvksa P rFkk Q dks Øe'k% 8 V rFkk –7 V ds foHko 

ij O;ofLFkr fd;k tkrk gSA 105 bysDVªkWuksa dks P ls Q 

rd xfr djkus esa fd;k x;k dk;Z gS  

 (1) 2.4 × 10–13 J (2) 1.6 × 10–13 J 

 (3) –1.6 × 10–13 J (4) –2.4 × 10–13 J 

30. leku foHko 5 oksYV rFkk f=T;k R dh edZjh dh  

1000 cw¡ns lfEefyr gksdj ,d cM+h cw¡n fufeZr djrh 

gSA cM+h cw¡n dk foHko gS 

 (1) 500 V (2) 50 V 

 (3) 1000 V (4) 100 V 

31. nks ,dleku iryh oy;ksa] ftuesa ls izR;sd dh f=T;k 

10 cm gS rFkk ;s vkos'k 10 C rFkk 5 C xzg.k fd, gq, 

gSa] dks ,d nwljs ls 10 cm dh nwjh ij lek{kh; :i ls 

j[kk tkrk gSA ,d vkos'k q dks izFke oy; ds dsUnz ls 

f}rh; oy; ds dsUnz rd xfr djkus esa fd;k x;k 

dk;Z gS   

 (1) 2

0

2 1
10 J

4 2

q  
 

  
 

 (2) 2

0

1 2
10 J

8 2

 
 

  

q
 

 (3) 2

0

2 1
10 J

8 2

q  
 

  
 

 (4) 2

0

2 1
10 J

4 2

q  
 

  
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32. Two capacitors of capacitances C and 2C are 

connected in parallel and are charged to a potential 

difference of V. If now battery is removed and a 

material of dielectric constant k is placed between 

plates of capacitance C, the potential drop across 

this capacitor will be 

 (1) 
3( 2)V

K


 (2) 

3

2

V

K 
 

 (3) 3K(V + 2) (4) 
2

3

V

K 
 

33. Consider a uniform electric field  33 10 N/CE i  . 

What is flux of this field through a square of side 10 

cm whose plane makes an angle of 30° with x-axis? 

 (1) 30 Nm2/C (2) 20 Nm2/C 

 (3) 230 3 Nm /C  (4) 15 Nm2/C 

34. A parallel plate capacitor with air between the 

plates has capacitance of 8 pF. What will be 

capacitance if the distance between plates is 

reduced by half and space between them is filled 

with a material of dielectric constant 6? 

 (1) 32 pF (2) 64 pF 

 (3) 96 pF (4) 16 pF 

35. Two spheres A and B of radius a and b respectively 

are at same electric potential. The ratio of surface 

charge densities of A to B is 

 (1) 
a

b
 (2) 

b

a
 

 (3) 

2
a

b

 
 
 

 (4) 

2
b

a

 
 
 

 

36. The electric potential V is given as a function of 

distance x (metre) by V = (5x2 + 10x – 9) volt. The 

value of electric field at x = 1 m is 

 (1) –20 V/m (2) 6 V/m 

 (3) –12 V/m (4) –10 V/m 

37. An electric dipole is enclosed through a sphere. The 

electric flux through the sphere will be (Symbols 

have their usual meaning) 

 (1) 
0

q


 (2) 

0

2q


 

 (3) 
02

q


 (4) Zero 

32. C rFkk 2C /kkfjrkvksa ds nks la/kkfj=ksa dks lekUrj esa 

la;ksftr fd;k tkrk gS rFkk bUgsa V foHkokUrj rd 

vkosf'kr fd;k tkrk gSA ;fn vc cSVjh dks gVk;k 

tkrk gS rFkk ijkoS|qrkad k ds ,d inkFkZ dks C  

/kkfjrk dh IysVksa ds e/; j[kk tkrk gS] bl la/kkfj= ds 

fljksa ij foHko iru gksxk  

 (1) 
3( 2)V

K


 (2) 

3

2

V

K 
 

 (3) 3K(V + 2) (4) 
2

3

V

K 
 

33. ,dleku fo|qr {ks=  33 10 N/CE i   ij fopkj 

dhft,A 10 cm Hkqtk ds ,d oxZ] ftldk ry x-v{k 

ds lkFk 30° dks.k fufeZr djrk gS] ls xqtjus okys bl 

{ks= dk ¶yDl D;k gS\ 

 (1) 30 Nm2/C (2) 20 Nm2/C 

 (3) 230 3 Nm /C  (4) 15 Nm2/C 

34. ,d lekUrj IysV la/kkfj=] ftldh IysVksa ds e/; ok;q 

Hkjh gS] dh /kkfjrk 8 pF gSA ;fn IysVksa ds e/; nwjh dks 

vk/ks rd ?kVk;k tkrk gS rFkk buds e/; ds vUrjky 

dks ijkoS|qrkd 6 ds ,d inkFkZ ls Hkjk tkrk gS] rc 

/kkfjrk D;k gksxh\ 

 (1) 32 pF (2) 64 pF 

 (3) 96 pF (4) 16 pF 

35. f=T;k a rFkk b ds nks xksys Øe'k% A rFkk B leku 

fo|qr foHko ij gSaA A rFkk B ds i`"Bh; vkos'k ?kuRoksa 

dk vuqikr gS  

 (1) 
a

b
 (2) 

b

a
 

 (3) 

2
a

b

 
 
 

 (4) 

2
b

a

 
 
 

 

36. fo|qr foHko V dks nwjh x (ehVj) ds Qyu ds :i esa  

V = (5x2 + 10x – 9) oksYV }kjk O;Dr fd;k tkrk gSA 

x = 1 m ij fo|qr {ks= dk eku gS  

 (1) –20 V/m (2) 6 V/m 

 (3) –12 V/m (4) –10 V/m 

37. ,d fo|qr f}/kzqo ,d xksys ls f?kjk gSA xksys ls xqtjus 

okyk fo|qr ¶yDl gksxk (ladsrksa ds vius lkekU; vFkZ 

gSa) 

 (1) 
0

q


 (2) 

0

2q


 

 (3) 
02

q


 (4) 'kwU; 
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38. Three capacitors of capacitance 18 F, 9 F and 3 

F are connected once in series and next times in 

parallel. The ratio of equivalent capacitance in two 

cases Cp/Cs is 

 (1) 9 : 1 (2) 6 : 1 

 (3) 15 : 1 (4) 9 : 4 

39. An isolated charged capacitor when filled with a 

dielectric (k = 3) has charge Q, voltage V and 

electric field E. If the dielectric is replaced by 

another dielectric (K = 9), the new values of charge, 

voltage and field is 

 (1) 3Q, 3V, 3E (2) Q, 3V, 3E 

 (3) , , 3
3

V
Q E  (4) , ,

3 3

V E
Q  

40. The electric potential difference between two 

parallel plates is 1000 V. If the plates are separated 

by 2 mm, what is magnitude of electrostatic force 

on a charge 2 × 10–6 C located midway between 

plates? 

 (1) 1 N (2) 2 N 

 (3) 4 N (4) 0.2 N 

41. There are two metallic spheres of same radii but 

one is solid and other is hollow. Then 

 (1) Solid sphere can be given more charge 

 (2) Hollow sphere can be given more charge 

 (3) Both can be given equal amount of maximum 

charge 

 (4) Any amount of charge can be given to both 

spheres 

42. Two positive charges each of charge q are kept at 

(a, 0) and (–a, 0). A negative charge is left from 

position (0, a) then negative charge will perform 

 (1) Oscillatory motion 

 (2) Simple harmonic motion 

 (3) Will come to rest at centre 

 (4) Will continue moving along negative y-axis 

43. A particle having charge q and mass m is projected 

with velocity 2 3v i j   in uniform electric field 

0E E j . Magnitude of change in momentum 

during time interval t is 

 (1) 
0

13mt

E
 (2) 0qE t

m
 

 (3) qE0t (4) Zero 

38. /kkfjrk 18 F, 9 F rFkk 3 F ds rhu la/kkfj=ksa dks 

igyh ckj Js.kh esa rFkk vxyh ckj lekUrj esa 

la;ksftr fd;k tkrk gSA nksuksa fLFkfr;ksa esa rqY; /kkfjrk 

dk vuqikr Cp/Cs gS 

 (1) 9 : 1 (2) 6 : 1 

 (3) 15 : 1 (4) 9 : 4 

39. tc ,d foyfxr vkosf'kr la/kkfj= dks fdlh ijkoS|qr 

(k = 3) ls Hkjk tkrk gS] rc bldk vkos'k Q, oksYVrk 

V rFkk fo|qr {ks= E gSA ;fn ijkoS|qr dks vU; 

ijkoS|qr (K = 9) }kjk izfrLFkkfir fd;k tkrk gS] rc 

vkos'k oksYVrk rFkk {ks= dk uohu eku gS  

 (1) 3Q, 3V, 3E (2) Q, 3V, 3E 

 (3) , , 3
3

V
Q E  (4) , ,

3 3

V E
Q  

40. nks lekUrj IysVksa ds e/; fo|qr foHkokUrj 1000 V gSA 

;fn IysVksa ds e/; dh nwjh 2 mm gS] rc IysVksa ds e/; 

fLFkr ,d vkos'k 2 × 10–6 C ij fLFkj oS|qr cy dk 

ifjek.k D;k gS\ 

 (1) 1 N (2) 2 N 

 (3) 4 N (4) 0.2 N 

41. ,d f=T;k ds nks /kkfRod xksys gS] ysfdu ,d xksyk 

Bksl gS rFkk nwljk xksyk [kks[kyk gSA rc  

 (1) Bksl xksys dks vf/kd vkos'k iznku fd;k tk ldrk gS  

 (2) [kks[kys xksys dks vf/kd vkos'k iznku fd;k tk 

ldrk gS 

 (3) nksuksa xksyksa dks vf/kdre vkos'k dh leku ek=k 

iznku dh tk ldrh gS  

 (4) nksuksa xksyksa dks vkos'k dh dksbZ ek=k iznku dh 

tkrh gS  

42. leku vkos'k q ds nks /kukRed vkos'kksa dks (a, 0) rFkk  

(–a, 0) ij j[kk tkrk gSA ,d _.kkRed vkos'k dks 

fLFkfr (0, a) ls NksM+k tkrk gS] rc _.kkRed vkos'k  

 (1) nksyuh xfr lEiUu djsxk 

 (2) ljy vkorZ xfr lEiUu djsxk  

 (3) dsUnz ij fojke esa vk,xk  

 (4) _.kkRed y-v{k ds vuqfn'k xfr djuk tkjh 

j[ksxk  

43. vkos'k q rFkk nzO;eku m okys ,d d.k dks osx  

2 3v i j   ls ,dleku fo|qr {ks= 0E E j  esa 

iz{ksfir fd;k tkrk gSA le; vUrjky t ds nkSjku laosx 

esa ifjorZu dk ifjek.k gS  

 (1) 
0

13mt

E
 (2) 

0qE t

m
 

 (3) qE0t (4) 'kwU; 
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44. Two spheres A and B of radius 4 cm and 6 cm are 

given charges 80 C and 40 C respectively. If they 

are connected by a conducting wire, the amount of 

charge flowing through wire is 

 (1) 20 C from A to B 

 (2) 32 C from A to B 

 (3) 16 C from B to A 

 (4) 20 C from B to A 

45. Two identical charges are placed at two corners of 

an equilateral triangle. The potential energy of 

system is U. The work done in bringing an identical 

charge from infinity to third vertex is 

 (1) U (2) 2U 

 (3) 3U (4) 4U 

44. f=T;k 4 cm rFkk 6 cm ds nks xksyksa A rFkk B dks 

vkos'k Øe'k% 80 C rFkk 40 C iznku fd, tkrs gSaA 

;fn bUgsa ,d pkyd rkj }kjk la;ksftr fd;k tkrk gS] 

rc rkj ls izokfgr vkos'k dh ek=k gS  

 (1) A ls B rd 20 C  

 (2) A ls B rd 32 C 

 (3) B ls A rd 16 C  

 (4) B ls A rd 20 C 

45. ,d leckgq f=Hkqt ds nks 'kh"kks± ij nks ,dleku 

vkos'kksa dks j[kk tkrk gSA fudk; dh fLFkfrt ÅtkZ U 

gSA fdlh ,dleku vkos'k dks vuUr ls r`rh; 'kh"kZ 

rd ykus esa fd;k x;k dk;Z gS 

 (1) U (2) 2U 

 (3) 3U (4) 4U 

CHEMISTRY 

46. The hybridisation of carbon atoms in C–C single 

bond of HCC–CH=CH2 is   

 (1) sp3–sp3 (2) sp–sp2  

 (3) sp–sp3 (4) sp2–sp2  

47. Most stable species is 

 (1) ΘRC C   (2)  

 (3) 
Θ

2R C CH   (4) 
Θ

23R C CH  

48. Total number of structural isomers of hydrocarbon 

C6H14 is 

 (1) 3  (2) 5  

 (3) 7  (4) 9  

49. The species which does not show hyperconjugation 

is 

 (1) CH3 – CH = CH2 (2)   

 (3)  (4)  

50. Which of the following is benzenoid aromatic 

compound?  

 (1) Furan (2) Thiophene  

 (3) Pyridine (4) Toluene 

 

46. HCC–CH=CH2 ds C–C ,dy ca/k esa dkcZu ijek.kqvksa 

dk ladj.k gS  

 (1) sp3–sp3 (2) sp–sp2  

 (3) sp–sp3 (4) sp2–sp2  

47. lokZf/kd LFkk;h Lih'kht gS 

 (1) ΘRC C   (2)  

 (3) 
Θ

2R C CH   (4) 
Θ

23R C CH  

48. gkbMªksdkcZu C6H14 ds lajpukRed leko;fo;ksa dh dqy 

la[;k gS 

 (1) 3  (2) 5  

 (3) 7  (4) 9  

49. dkSulh Lih'kht vfrla;qXeu ugha n'kkZrh\   

 (1) CH3 – CH = CH2 (2)   

 (3)  (4)  

50. fuEufyf[kr esa ls csUtsukW;M ,jksesfVd ;kSfxd dkSulk 

gS\  

 (1) ¶;wjsu (2) Fkk;ksQhu  

 (3) fifjMhu (4) VkWywbZu 
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51. Major product of following reaction will be 

   

 (1)    

 (2)  

 (3)  

 (4)  

52. Calculate the volume of alkane produced at STP 

when 100 ml of 0.1 M CH3COOH is completely 

neutralized with standard solution of NaOH first and 

then resulting solution is completely electrolysed .  

 (1) 56 ml 

 (2) 112 ml  

 (3) 224 ml 

 (4) 448 ml  

53. ,  

  is an example of 

 (1) Electrophilic substitution  

 (2) Electrophilic addition   

 (3) Nucleophilic substitution 

 (4) Free radical addition  

54. Most acidic compound among the following is 

 (1)

 

  (2)

 

  

 (3)   (4)    

55. Correct order of stability of given carbocation is 

 A. 3CH


 

 B. 2 3CH OCH


 

 C. 2 3CH CH


 

 (1) A > B > C (2) B > C > A  

 (3) C > B > A (4) C > A > B 

51. fuEufyf[kr vfHkfØ;k dk eq[; mRikn gksxk  

   

 (1)    

 (2)  

 (3)  

 (4)  

52. tc 100 ml 0.1 M CH3COOH dks igys NaOH ds 

ekud foy;u }kjk iw.kZr% mnklhu fd;k tkrk gS rFkk 

fQj ifj.kkeh foy;u dk iw.kZ fo|qrvi?kVu fd;k 

tkrk gS] rks STP ij izkIr ,Ydsu ds vk;ru dh x.kuk 

dhft,A   

 (1) 56 ml 

 (2) 112 ml  

 (3) 224 ml 

 (4) 448 ml  

53. ,  

 mijksDr vfHkfØ;k ,d mnkgj.k gS %  

 (1) bysDVªkWuLusgh izfrLFkkiu dk  

 (2) bysDVªkWuLusgh ;ksxkRed dk   

 (3) ukfHkdLusgh izfrLFkkiu dk 

 (4) eqDr ewyd ;ksxkRed dk 

54. fuEufyf[kr esa ls lokZf/kd vEyh; ;kSfxd gS  

 (1)

 

  (2)

 

  

 (3)   (4)    

55. fn;s x;s dkcZ/kuk;uksa ds LFkkf;Ro dk lgh Øe gS  

 A. 3CH


 

 B. 2 3CH OCH


 

 C. 2 3CH CH


 

 (1)  A > B > C  (2) B > C > A  

 (3) C > B > A  (4) C > A > B 
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56. IUPAC name of  is  

 (1) 1- Ethyl-2, 2-dimethylcyclohexane  

 (2) 1, 1-Dimethyl-2-ethylcyclohexane  

 (3) 2-Ethyl-1, 1-dimethylcyclohexane 

 (4) 2, 2-Dimethyl-1-ethylcyclohexane  

57. n-Pentane and iso-pentane are related as  

 (1) Chain isomers  

 (2) Position isomers  

 (3) Metamers  

 (4) Functional isomers  

58. Which among the following is not an aromatic 

species? 

 (1)

 

  (2)

 

  

 (3)  (4)  

59. Which among the following does not show keto-enol 

tautomerism? 

 (1)  (2)  

 (3)  (4)  

60. Which among the following is a temporary effect? 

 (1) Inductive effect (2) Mesomeric effect 

 (3) Hyperconjugation (4) Electromeric effect 

61. The compound which does not decolourise 

Baeyer’s reagent is 

 (1) Propyne (2) Cyclohexene 

 (3) But-1-ene (4) Benzene 

62. Kjeldahl method is not applicable to which of the 

given compounds? 

 (1)  (2)  

 (3)  (4)

 

 

56.  dk IUPAC uke gS 

 (1) 1- ,fFky-2, 2-MkbZesfFkylkbDyksgsDlsu  

 (2) 1, 1-MkbZesfFky-2-,fFkylkbDyksgsDlsu  

 (3) 2-,fFky-1, 1-MkbZesfFkylkbDyksgsDlsu 

 (4) 2, 2-MkbZesfFky-1-,fFkylkbDyksgsDlsu  

57. n-isUVsu rFkk vkblks&isUVsu esa lEcU/k gS  

 (1) J`a[kyk leko;o dk   

 (2) fLFkfr leko;o dk  

 (3) e/;ko;o dk  

 (4)  fØ;kRed leko;o dk 

58. fuEufyf[kr esa ls dkSulh ,d ,jksesfVd Lih'kht ugha 

gS\  

 (1)

 

  (2)

 

  

 (3)  (4)  

59. fuEufyf[kr esa ls dkSulk ,d dhVks&bukWy pyko;ork 

ugha n'kkZrk\  

 (1)  (2)  

 (3)  (4)  

60. fuEufyf[kr esa ls ,d vLFkk;h izHkko dkSulk gS\  

 (1) izsjf.kd izHkko (2) eslksejh izHkko 

 (3) vfrla;qXeu (4) bysDVªksejh izHkko 

61. dkSulk ;kSfxd cs;j vfHkdeZd dks fojaftr ugha 

djrk\  

 (1) izksikbu (2) lkbDyksgsDlhu 

 (3) C;wV-1-bZu (4) csUthu 

62. fuEufyf[kr esa ls fdl ;kSfxd ds fy, dSYMkWy fof/k 

ykxw ugha gksrh\  

 (1)  (2)  

 (3)  (4)
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63. In Carius method of estimation of bromine, 250 g of 

an organic compound gave 140 g of AgBr. The 

approximate percentage of bromine in the organic 

compound is 

 (1) 24%  (2) 48%  

 (3) 58% (4) 64%  

64. Which of the following is an electrophile? 

 (1) RNH2 

 (2) H2O  

 (3) NaBH4 

 (4) AlCl3  

65. Which among the following is most reactive towards 

electrophilic substitution reaction? 

 (1)  (2)  

 (3)  (4)  

66. Which of the following is most stable conformation 

of 2-fluoroethanol? 

 (1)  (2)  

 (3)  (4)  

67. Major product formed when  reacts with 

Br2 in the presence of sunlight is 

 (1)

 

  (2)

 

  

 (3)

 

  (4)

 

  

63. czksehu ds vkdyu dh dSfjvl fof/k esa, 250 g dkcZfud 

;kSfxd 140 g AgBr nsrk gSA dkcZfud ;kSfxd esa czksehu 

dk yxHkx izfr'kr gS  

 (1) 24%  (2) 48%  

 (3) 58% (4) 64%  

64. fuEufyf[kr esa ls bysDVªkWuLusgh dkSulk gS\ 

 (1) RNH2 

 (2) H2O  

 (3) NaBH4 

 (4) AlCl3  

65. fuEufyf[kr esa ls dkSulk ,d bysDVªkWuLusgh izfrLFkkiu 

vfHkfØ;k ds izfr lokZf/kd fØ;k'khy gS\  

 (1)  (2)  

 (3)  (4)  

66. fuEufyf[kr esa ls 2-¶yqvksjks,FksukWy dk lokZf/kd LFkk;h 

la:i.k dkSulk gS\  

 (1)  (2)  

 (3)  (4)  

67. tc lw;Z ds izdk'k dh mifLFkfr esa  dh Br2 

ds lkFk  vfHkfØ;k gksrh gS] rks izkIr eq[; mRikn gS   

 (1)

 

  (2)

 

  

 (3)

 

  (4)
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68. Only one dicarbonyl compound is produced by an 

alkene ‘X’ on ozonolysis. ‘X’ is 

 (1)  (2)   

 (3)  (4)  

69. Predict the A and B in following reaction 

 Benzene
A

Benzene triozonide
B

 glyoxal 

 (1) A = O2, B = H2O  

 (2)  A = O3, B = Zn/H2O  

 (3)  A = KMnO4/ H


, B = Zn/H2O  

 (4) A = ZnO, B = O3/H2O   

70. The order of decreasing priority of the given 

functional groups is 

 (1) –SO3H > CONH2 > –COCl > –CN  

 (2) –SO3H > –CN > CONH2 > –COCl 

 (3) –CN > –SO3H > – CONH2 > –COCl 

 (4) –SO3H > COCl > – CONH2 > –CN 

71. Sodium salt of which carboxylic acid on heating with 

soda lime will produce propane? 

 (1) CH3CH3CH2COOH 

 (2)  

 (3) CH3CH2COOH  

 (4) Both (1) and (2)  

72. Which of the following methods will produce  

 CH4?  

 (1) CH3 – Cl + H2
Zn

H
  

 (2) CH3COOK(aq.) 
Electrolysis

   

 (3) CH3Cl + Na 
Dryether

  

 (4) CaC2 + H2O   

73. The most unstable species among the following is 

 (1)

 

 (2)

 

  

 (3)

 

 (4)

 

  

68. ,Ydhu ‘X’ ds vkstksuhvi?kVu ij dsoy ,d 

MkbZdkcksZfuy ;kSfxd izkIr gksrk gS] rc ‘X’ gS  

 (1)  (2)   

 (3)  (4)  

69. fuEufyf[kr vfHkfØ;k esa A rFkk B dks igpkfu,A  

 csUthu
A

  csUthu VªkbvkstksukbM 
B

  

XykbZvkWDlsy  

 (1) A = O2, B = H2O  

 (2)  A = O3, B = Zn/H2O  

 (3)  A = KMnO4/H


, B = Zn/H2O  

 (4) A = ZnO, B = O3/H2O   

70. fn, x, fØ;kRed lewgksa dh ?kVrh ojh;rk dk Øe gS  

 (1) –SO3H > CONH2 > –COCl > –CN  

 (2) –SO3H > –CN > CONH2 > –COCl 

 (3) –CN > –SO3H > – CONH2 > –COCl 

 (4) –SO3H > COCl > – CONH2 > –CN 

71. fuEufyf[kr esa ls fdl dkcksZfDlfyd vEy ds lksfM;e 

yo.k dks lksMkykbe ds lkFk xeZ djus ij izksisu izkIr 

gksxh\  

 (1) CH3CH3CH2COOH 

 (2)  

 (3) CH3CH2COOH  

 (4) (1) o (2) nksuksa   

72. fuEufyf[kr esa ls fdl fof/k esa CH4 izkIr gksxh\ 

 (1) CH3 – Cl + H2
Zn

H
  

 (2) CH3COOK(aq.) 
fo|qrvi?kVu

   

 (3) CH3Cl + Na 
'k"q d bZFkj

  

 (4) CaC2 + H2O   

73. fuEufyf[kr esa ls lokZf/kd vLFkk;h Lih'kht gS 

 (1)

 

 (2)

 

  

 (3)

 

 (4)
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74. 
2H /Hg

3 2CH C CH H O
 


     

 
Tautomerise

A B  

 What is B?  

 (1) CH3CH2CHO (2) CH3COCH3  

 (3) CH2=CH–CH2OH (4) CH3CH2CH2OH 

75. Which of the following is/are method(s) to prepare 

benzene?  

 (1)    

 (2)  

 (3)   

 (4) All of these  

76. Mixture of chloroform and aniline are separated by 

 (1) Steam distillation 

 (2) Sublimation  

 (3) Distillation under reduced pressure 

 (4) Distillation 

77. Consider the following statements 

 a. Complex [Fe(CN)5NOS]4– is violet in colour. 

 b. Phosphorus present in an organic compound 

cannot be detected by Lassaigne test 

 c. Silver chloride is insoluble in ammonium 

hydroxide solution. 

 The correct statements is/are 

 (1) c only (2) a only 

 (3) a and b only (4) a and c only 

78. Hexane on reaction with V2O5 at 773 K and 

10-20 atm pressure forms 

 (1) Cyclohexane 

 (2) Benzene 

 (3) Cyclohexene 

 (4) 1,3-cyclohexadiene 

74. 
2H /Hg

3 2CH C CH H O
 


     

 
pyko;ohdj.k

A B  

 B D;k gS\  

 (1) CH3CH2CHO (2) CH3COCH3  

 (3) CH2=CH–CH2OH (4) CH3CH2CH2OH 

75. fuEufyf[kr esa ls csUthu ds fojpu dh fof/k@fof/k;k¡ 

dkSulh gS@gSa\  

 (1)    

 (2)  

 (3)   

 (4) buesa ls lHkh  

76. DyksjksQkWeZ rFkk ,fuyhu ds feJ.k dks i`Fkd fd;k tk 

ldrk gS  

 (1) Hkkih; vklou }kjk  

 (2) Å/oZikru }kjk 

 (3) de nkc ij vklou }kjk 

 (4) vklou }kjk 

77. fuEufyf[kr dFkuksa ij fopkj dhft,  

 a. ladqy [Fe(CN)5NOS]4– cSaxuh jax dk gSA 

 b. dkcZfud ;kSfxd esa mifLFkr QkWLQksjl dh igpku 

ySlkus ijh{k.k }kjk ugha dh tk ldrhA 

 c. flYoj DyksjkbM] veksfu;e gkbMªkWDlkbM foy;u 

esa vfoys; gksrk gSA  

 lgh dFku gS@gSa  

 (1) dsoy c (2) dsoy a   

 (3) dsoy a rFkk b  (4) dsoy a rFkk c  

78. 773 K rFkk 10-20 atm nkc ij gsDlsu dh V2O5 ds 

lkFk vfHkfØ;k ij izkIr gksrk gS  

 (1) lkbDyksgsDlsu 

 (2) csUthu 

 (3) lkbDyksgsDlhu 

 (4) 1,3-lkbDyksgsDlkMkbbZu 
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79. Mg2C3 + H2O A
Na

B 3CH Br
C  

 Find out the correct statement about ‘C’.  

 (1) ‘C’ is 3 2CH CH C CH     

 (2) ‘C’ gives positive Tollen’s test  

 (3) All the carbons are linearly present in ‘C’ 

 (4) On ozonolysis ‘C’ gives propanal  

80. Product of the given reaction is 

 
Cu/523 K

4 2 100 atm
CH O   

 (1) Methanal (2) Methanoic acid  

 (3) Methanol (4) Glyoxal 

81. . A is 

 (1)  (2)

 

  

 (3)  (4) 

 

82. The number of conjugated electrons in furan  

are  

 (1) 2 (2) 4  

 (3) 6 (4) 8  

83. Consider the following reaction sequence 

   

  Products B is 

 (1)  (2)  

 (3)  (4)  

84. Which of the following alkynes gives H2 with 

sodium? 

 (1) 3 3CH C C CH     

 (2) 3CH C CH   

 (3) 3 2 3CH C C CH CH      

 (4)    

79. Mg2C3 + H2O A
Na

B 3CH Br
C  

  ‘C’ ds fo"k; esa lgh dFku Kkr dhft,A  

 (1) ‘C’, 3 2CH CH C CH    gS 

 (2) ‘C’ /kukRed VkWysu ijh{k.k nsrk gS  

 (3)  ‘C’ esa lHkh dkcZu js[kh; :i esa mifLFkr gksrs gSa 

 (4) vkstksuhvi?kVu ij ‘C’ izksisuSy nsrk gS 

80. uhps nh x;h vfHkfØ;k dk mRikn gS 

 Cu/523 K
4 2 100 atm

CH O   

 (1) esFksuSy (2) esFksukWbd vEy 

 (3) esFksukWy (4) XykbvkWDlsy 

81. . A gS 

 (1)  (2)

 

  

 (3)  (4) 

 

82. ¶;wjsu   esa la;qfXer bysDVªkWuksa dh la[;k gS  

 (1) 2 (2) 4  

 (3) 6 (4) 8  

83. fuEufyf[kr vfHkfØ;k vuqØe ij fopkj dhft, 

   

  mRikn B gS 

 (1)  (2)  

 (3)  (4)  

84. fuEufyf[kr esa ls dkSulh ,Ydkbu lksfM;e ds lkFk 

H2 nsrh gS\  

 (1) 3 3CH C C CH     

 (2) 3CH C CH   

 (3) 3 2 3CH C C CH CH      

 (4)    
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85. Benzene on reaction with benzoic anhydride in 

presence of anhydrous AlCl3 forms 

 (1) Acetophenone 

 (2) Diphenylacetic acid 

 (3) Diphenyl ether 

 (4) Benzophenone 

86. Depletion of ozone in stratosphere is due to 

 (1) C6H6Cl6 (2) CF2Cl2  

 (3) C6H6 (4) C6F6  

87. Which of the following is not true about classical 

smog?  

 (1) It is oxidising in nature 

 (2) It contains SO2  

 (3) It is also known as London smog 

 (4) It occurs in cool humid climate  

88. Green chemistry is focused on processes that 

 (1) Maximise the generation and use of hazardous 

chemical.  

 (2) Minimise the generation and use of  

  hazardous waste  

 (3) Maximise the use of green colour. 

 (4) Minimise the use of green plant.  

89. Tolerable limit of nitrates in drinking water is 

        (1) 1 ppm (2) 50 ppm  

 (3) 10 ppb  (4) 500 ppb  

90. Which among the following is ortho/para directing 

group towards aromatic electrophilic substitution 

reaction? 

 (1) –CHO (2) –COOR 

 (3) –NHCOCH3 (4) –CN 

85. futZy AlCl3 dh mifLFkfr esa csUthu dh csUtkWbd 

,ugkbMªkbM ds lkFk vfHkfØ;k ij izkIr gksrk gS  

 (1) ,lhVksQhuksu 

 (2) MkbQsfuy,lhfVd vEy 

 (3) MkbQsfuy bZFkj 

 (4) csUtksQhuksu 

86. lerkie.My esa vkstksu dk {k; fdlds dkj.k gksrk 

gS\  

 (1) C6H6Cl6 (2) CF2Cl2  

 (3) C6H6 (4) C6F6  

87. lkeku; /kwe dksgjk ds fo"k; esa fuEufyf[kr esa ls 

dkSulk dFku lgh ugha gS\  

 (1) ;g vkWDlhdkjh izÑfr dk gksrk gS  

 (2) blesa SO2  gksrh gS 

 (3) ;g yaMu LekWx Hkh dgykrk gS  

 (4) ;g B.Mh ue tyok;q esa gksrk gS  

88. gfjr jlk;u fdl izØe ij dsfUnzr gksrh gS\  

 (1) gkfudkjd jlk;uksa dk mRiknu o mi;ksx 

vf/kdre djuk   

 (2) gkfudkjd jlk;uksa dk mRiknu o mi;ksx U;wure 

djuk    

 (3) gjs jax dk mi;ksx vf/kd djuk   

 (4) gjs ikniksa dk mi;ksx de djuk  

89. is; ty esa ukbVªsV dh vf/kdre lhek gksrh gS  

        (1) 1 ppm (2) 50 ppm  

 (3) 10 ppb  (4) 500 ppb  

90. fuEufyf[kr esa ls ,jksesfVd bysDVªkWuLusgh izfrLFkkiu 

vfHkfØ;k ds izfr vkWFkksZ@isjk nSf'kd lewg dkSulk gS\  

 (1) –CHO (2) –COOR 

 (3) –NHCOCH3 (4) –CN  

BOTANY 

91. Select the wrong statement. 

 (1) Plants do not have respiratory organs 

 (2) All organisms have the machinery to partially 

oxidise the glucose 

 (3) Respiratory substrates are oxidised in single 

step to release all energy contained in them 

 (4) Roots, stems and leaves respire at rates far 

lower than animals 

91. xyr dFku dk p;u dhft,A 

 (1) ikniksa eas “olu vax ugha gksrs 

 (2) lHkh thoksa esa Xywdkst dks vkaf”kd :i ls 

vkWDlhd`r djus ds fy, e”khujh gksrh gS 

 (3) “oluh lClVªsV~l esa fufgr lHkh ÅtkZ dks eqDr 

djus ds fy, mUgsa ,dy pj.k esa vkWDlhd`r fd;k 

tkrk gS 

 (4) ewy] rus rFkk ifÙk;k¡] tarqvksa dh rqyuk esa cgqr 

de nj ij “olu djrs gSa 
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92. How many of the given substrate(s) readily enter 
the glycolysis step? 

 a. Fat b. Fructose 

 c. Protein d. Glucose 

 (1) 3 (2) 1 

 (3) 4 (4) 2 

93. How many redox equivalents will be removed from 
PGAL and transferred to a molecule of NAD+, if two 
molecules of glucose enter the glycolysis? 

 (1) 2 (2) 4 

 (3) 8 (4) 6 

94. Below given are some steps of glycolysis. Substrate 
level phosphorylation occurs during 

(1) Fructose 6-phosphate   Fructose 1, 6-
bisphosphate 

(2) 1, 3 bisphosphoglyceric 
acid 

  3-phosphoglyceric acid 

(3) 2 Phosphoglycerate   PEP 

(4) Glyceraldehyde 
3-phosphate 

  Dihydroxy acetone 
phosphate 

95. In anaerobic organisms, glycolysis occurs in 

 (1) Mitochondrial matrix 

 (2) Cytoplasm 

 (3) Mesosome 

 (4) Mitochondrial membrane 

96. Choose the odd one w.r.t. intermediates of 

glycolysis. 

 (1) 1, 3 bisphosphoglyceric acid 

 (2) Phosphoglycerate 

 (3) Dihydroxyacetone phosphate 

 (4) Acetyl CoA 

97. All of the below given features or events are similar 

between alcoholic fermentation and lactic acid 

fermentation, except 

 (1) NADH + H+ is reoxidised to NAD+ 

 (2) Involve decarboxylase enzyme 

 (3) Occur in anaerobic condition  

 (4) Involve incomplete oxidation of pyruvate 

98. Link reaction 

 a. Occurs in mitochondrial matrix 

 b. Is catalysed by dehydrogenase enzyme 

 c. Involves oxidative decarboxylation and 

oxidative phosphorylation 

 Choose the correct one(s). 

 (1) a and b only (2) b only 

 (3) b and c only (4) All a, b and c 

92. fn, x, fdrus lClVªsV ljyrk ls Xykbdksfyfll in 

esa izos”k djrs gS@gSa\ 

 a. olk b. ÝDVkst 

 c. izksVhu d. Xywdkst 

 (1) 3 (2) 1 

 (3) 4 (4) 2 

93. ;fn Xywdksl ds nks v.kq Xykbdksfyfll eas izos”k djrs 

gSa rc PGAL ls fdrus jsMkWDl lerqY; fu’dkflr fd, 

tk,axs ,oa NAD+ ds ,d v.kq esa LFkkukarfjr dj fn, 

tk,axs\ 

 (1) 2 (2) 4 

 (3) 8 (4) 6 

94. uhps Xykbdksfyfll ds dqN in fn, x, gSaA lClVªsV 

Lrjh; QkWLQksfjyhdj.k fdl :ikarj.k ds nkSjku gksrk gS\ 

(1) ÝDVkst 6-QkWLQsV   ÝDVkst 1, 6-fclQkWLQsV 

(2) 1, 3 fclQkWLQksfXylfjd vEy   3-QkWLQksfXylfjd vEy 

(3) 2 QkWLQksfXyljsV   PEP 

(4) fXyljsfYMgkbM 3-QkWLQsV   MkbgkbMªkWDlh ,lhVksu 

QkWLQsV 

95. vok;oh; thoksa esa Xykbdksfyfll dh izfØ;k dgk¡ 

lEiUu gksrh gS\ 

 (1) ekbVksdkWf.Mª;k ds eSfVªDl esa 

 (2) dksf”kdknzO; esa 

 (3) ehtkslkse esa 

 (4) ekbVksdkWf.Mª;k dh f>Yyh esa 

96. Xykbdksfyfll ds e/;ofrZ;ksa ds lanHkZ esa fo’ke dk 

p;u dhft,A 

 (1) 1, 3 fclQkWLQksfXylfjd vEy 

 (2) QkWLQksfXyljsV 

 (3) MkbgkbMªksDlh,lhVksu QkWLQsV 

 (4) ,lhfVy CoA 

97. ,YdksgkWyh fd.ou rFkk ySfDVd vEy fd.ou ds chp 

fdlds vfrfjDr fn, x, “ks’k lHkh y{k.k ;k ?kVuk,¡ 

leku gksrh gSa\ 

 (1) NADH + H+ dk iqu% NAD+ esa vkWDlhd`r gksuk 

 (2) fMdkcksZfDlyst ,atkbe dk “kkfey gksuk 

 (3) vok;oh; fLFkfr esa lEiUu gksuk 

 (4) ik;:osV dk viw.kZ vkWDlhdj.k gksuk 

98. la;ksth vfHkfØ;k 

 a. ekbVksdkWf.Mª;k ds eSfVªDl esa gksrh gS 

 b. fMgkbMªksftust ,atkbe }kjk mRizsfjr gksrh gS 

 c. esa vkWDlhdkjh] fodkcksZfDlyhdj.k rFkk vkWDlhdkjh 

QkWLQksfjyhdj.k “kkfey gksrk gS 

 lgh dk p;u dhft,A 

 (1) dsoy a rFkk b (2) dsoy b  

 (3) dsoy b rFkk c (4) a, b rFkk c lHkh 
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99. TCA cycle starts with condensation of A  with 

B  and C  to yield citric acid. Complete 

above statement by choosing correct option for A, 

B and C. 

  A B C 

 (1) Pyruvic acid Acetyl CoA NAD+ 

 (2) OAA Pyruvic acid H2O 

 (3) Acetyl group OAA H2O 

 (4) Acetyl CoA NAD+ H2O 

100. In Krebs cycle CO2 is evolved at how many steps? 

 (1) 3 (2) 6 

 (3) 2 (4) 1 

101. At which stage of Krebs cycle FAD+ is reduced to 

FADH2? 

 (1) -KGA   Succinyl CoA 

 (2) Fumaric acid   Malic acid 

 (3) Succinyl CoA   Succinic acid 

 (4) Succinic acid   Fumaric acid 

102. ETS operates in 

 (1) Mitochondrial matrix 

 (2) Inner mitochondrial membrane 

 (3) Cytoplasm 

 (4) Outer membrane of mitochondria 

103. Find the incorrectly matched pair. 

 (1) Cytochrome c – Mobile electron carrier 

 (2) Glycerol – Enter respiratory pathway 

after converted into Acetyl 

CoA 

 (3) Protein – RQ is 0.9 

 (4) ATP synthase – Complex V of ETS 

104. How many ATP molecules are synthesised via ETS 

if one molecule of glucose is respired aerobically? 

 (1) 36 (2) 30 

 (3) 34 (4) 17 

105. Choose the wrong statement for RQ. 

 (1) It depends on the type of respiratory substrate 

used during respiration 

 (2) It is also known as respiratory ratio 

 (3) RQ of organic acid is more than that of glucose 

 (4) Substrate having more oxygen as compare to C 

and H have RQ value less than 1 

99. TCA pØ] B  rFkk C  ds lkFk A  ds 

la?kuu ls izkjaHk gksrk gS ftlls flfVªd vEy curk gSA 

A, B rFkk C ds fy, lgh fodYi dk p;u dj mijksDr 

dFku dks iw.kZ dhft,A 

  A B C 

 (1) ik;:fod vEy ,lhfVy CoA NAD+ 

 (2) OAA ik;:fod vEy H2O 

 (3) ,lhfVy lewg OAA H2O 

 (4) ,lhfVy CoA NAD+ H2O 

100. ØsCl pØ esa CO2 fdrus pj.kksa esa mRlftZr gksrh gS\ 

 (1) 3 (2) 6 

 (3) 2 (4) 1 

101. ØsCl pØ ds fdl pj.k esa FAD+, FADH2 esa vipf;r 

gksrk gS\ 

 (1) -KGA   lfDlfuy CoA 

 (2) ¶;wesfjd vEy   eSfyd vEy 

 (3) lfDlfuy CoA   lfDlfud vEy 

 (4) lfDlfud vEy   ¶;wesfjd vEy 

102. ETS fdlesa gksrk gS\ 

 (1) ekbVksdkWf.Mª;k ds eSfVªDl esa 

 (2) ekbVksdkWf.Mª;k dh vkarfjd f>Yyh esa 

 (3) dksf”kdknzO; esa 

 (4) ekbVksdkWf.Mª;k dh ckgjh f>Yyh esa 

103. vlqesfyr ;qXe dk irk yxkb,A 

 (1) lkbVksØkse c – py bysDVªkWu okgd gS 

 (2) fXyljksy – ,lhfVy CoA esa ifjofrZr 

gksus ds ckn “oluh iFkØe 

esa izos”k djrk gS 

 (3) izksVhu – dk RQ 0.9 gS 

 (4) ATP flaFkst – ETS dk ladqy V gS 

104. ;fn Xywdkst dk ,d v.kq vok;oh; :i ls “oflr 

gksrk gS rc ETS ds }kjk fdrus ATP v.kq la”ysf’kr 

gksrs gSa\ 

 (1) 36 (2) 30 

 (3) 34 (4) 17 

105. RQ ds fy, xyr dFku dk p;u dhft,A 

 (1) ;g “olu ds nkSjku mi;ksx fd, tkus okys 

“oluh lClVªsV ds izdkj ij fuHkZj djrk gSA 

 (2) ;g “oluh vuqikr Hkh dgykrk gSA 

 (3) dkcZfud vEy dk RQ Xywdksl ls vf/kd gksrk gSA 

 (4) C rFkk H dh rqyuk esa vf/kd vkWDlhtu okys 

lClVªsV dk RQ eku 1 ls de gksrk gSA 
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106. Plants growth is unique because 

 (1) They retain the capacity for unlimited growth 

 (2) Their apex grows only 

 (3) All of their cells divide throughout the life 

 (4) Both (1) and (3) 

107. Growth of a plant can be measured by measuring 

all of the following parameters, except 

 (1) Increase in fresh weight 

 (2) Increase in dry weight 

 (3) Increase in surface area of leaves 

 (4) Increase in protoplasm of a cell 

108. Tracheary elements are formed by the process 

called  

 (1) Dedifferentiation 

 (2) Plasticity 

 (3) Differentiation 

 (4) Heterophylly 

109. Statement-A: A tree showing seasonal activity 

shows typical S shaped curve. 

 Statement-B: Gravity does not play any kind of role 

in determining plant growth. 

 Read above statements and choose the correct 

option. 

 (1) Only statement A is correct 

 (2) Only statement B is correct 

 (3) Both statements are correct 

 (4) Both statements are incorrect 

110. Read the below given features of a hormone and 

select the option correct for it. 

 a. It is adenine derivative. 

 b. It was discovered by Skoog and his coworkers. 

 (1) This hormone is also called anti GA hormone 

 (2) First natural form of this hormone was reported 

in maize 

 (3) It promotes apical dominance 

 (4) It is acidic in nature 

111. Auxin can be used as 

 (1) Anti-transpirant 

 (2) Fruit ripening agent 

 (3) Agent involved in thinning of fruits 

 (4) Weedicide 

106. ikni o`f) fof”k’V gksrh gS D;ksafd 

 (1) ;g vlhfer fodkl djus dh {kerk dks cuk, 

j[krs gSa 

 (2) dsoy budk “kh’kZ o`f) djrk gS 

 (3) budh lHkh dksf”kdk,¡ thou Hkj foHkktu djrh gSa 

 (4) (1) rFkk (3) nksukas  

107. ,d ikni dh o`f) dks fdlds vfrfjDr fuEufyf[kr 

lHkh ekin.Mksa dks ekidj] ekik tk ldrk gS\ 

 (1) uohu Hkkj esa o`f) 

 (2) “kq’d Hkkj esa o`f) 

 (3) ifÙk;kas ds lrgh {ks= esa o`f) 

 (4) ,d dksf”kdk ds thonzO; esa o`f) 

108. okfgfudk rRo fdl izfØ;k ds }kjk fufeZr gksrs gSa\ 

 (1) fufoZHksnu 

 (2) lq?kV~;rk 

 (3) foHksnu 

 (4) fo’kei.kZrk 

109. dFku-A: ekSleh fØ;k”khyrk n”kkZus okyk ,d o`{k] 

iz:ih S vkdkj dk oØ n”kkZrk gSA 

 dFku-B: xq:Rokd’kZ.k] ikni o`f) dks  fu/kkZfjr djus 

esa fdlh Hkh izdkj dh Hkwfedk ugha fuHkkrkA 

 mijksDr dFkuksa dks i<+dj lgh fodYi dk p;u 

dhft,A 

 (1) dsoy dFku A lgh gS 

 (2) dsoy dFku B lgh gS 

 (3) nksuksa dFku lgh gSa 

 (4) nksukas dFku xyr gSa 

110. ,d gkWeksZu ds uhps fn, x, y{k.kksa dks if<+, rFkk 

blds fy, lgh fodYi dk p;u dhft,A 

 a. ;g ,Msuhu dk O;qRiUu gSA 

 b. bldh [kkst Ldwx o muds lgdfeZ;ksa us dh FkhA 

 (1) ;g gkWeksZu izfr GA gkWeksZu Hkh dgykrk gSA 

 (2) bl gkWeksZu dk igyk izkd`frd :i eDds esa crk;k 

x;k Fkk 

 (3) ;g “kh’kZ iz/kkU;rk dks izksRlkfgr djrk gS 

 (4) ;g vEyh; izd`fr dk gksrk gS 

111. vkWfDlu dk iz;ksx fdl izdkj fd;k tk ldrk gS\ 

 (1) izfr ok’iksRlthZ ds :i esa 

 (2) Qy dks idkus okys dkjd ds :i esa 

 (3) Qyksa ds foyxu esa “kkfey dkjd ds :i esa 

 (4) [kjirokjuk”kh ds :i esa 
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112. Select the wrongly matched pair. 

 (1) Auxin – Stimulates rooting on stem 

cutting 

 (2) Gibberellins – Induce quick maturity in 

conifers 

 (3) ABA – Inhibits protein and RNA 

synthesis 

 (4) Ethylene – Increases number of male 

flowers in cucumber 

113. For which of the given feature/phenomenon both 

gibberellin and ABA shows antagonistic effect? 

 (1) Ripening of fruit (2) Seed germination 

 (3) Apical dominance (4) Stomatal closure 

114. Shelf life of cut shoot, vegetables and flowers can 

be increased by applying 

 (1) ABA (2) Cytokinin 

 (3) Gibberellins (4) Ethylene 

115. Complete the below given statement by choosing 

correct option for A and B. 

 “Both A  and B  are responsible for 

promoting the shedding of leaves, fruits and 

flowers.” 

  A B 

 (1) Auxin Cytokinin 

 (2) Ethylene Gibberellins 

 (3) ABA Ethylene 

 (4) Cytokinin ABA 

116. Which of the given plant hormone shows growth 

promoting as well as inhibiting activities? 

 (1) ABA (2) Ethylene 

 (3) Gibberellin (4) Auxin 

117. Read and identify the given statements as true (T) 

or false (F) and select the correct option. 

 Statement-A: In castor cotyledons remain 

underground during germination. 

 Statement-B: Senescence is prevented by auxin 

while stimulated by ABA. 

 Statement-C: Day neutral plants do not require 

light for flowering. 

  A B C 

 (1) T T T 

 (2) F F T 

 (3) T F T 

 (4) F T F 

112. vlqesfyr ;qXe dk p;u dhft,A 

 (1) vkWfDlu – rus dh dfVax ¼dyeksa½ ij tM+ksa 

dks QwVus esa lgk;rk djrk gS 

 (2) ftCcjsfyu – “kadq/kkfj;ksa esa rRdky ifjiDork 

dks izsfjr djrk gS 

 (3) ABA – izksVhu rFkk RNA la”ys’k.k dks 

ckf/kr djrk gS 

 (4) ,Fkhfyu – [khjs esa uj iq’iksa dh la[;k dks 

c<+krk gS 

113. fn, x, fdl y{k.k@ifj?kVuk ds fy, ftCcjsfyu o 

ABA nksuksa fojks/kh izHkko n”kkZrs gSa\ 

 (1) Qy dk iduk (2) cht vadqj.k 

 (3) f”k[kkxz iz/kkU;rk (4) ja/kz dk can gksuk 

114. dVh gqbZ izjksg] lfCt;ksa rFkk Qyksa dh fu/kkuh vk;q dks 

fdlds iz;ksx }kjk c<+k;k tk ldrk gS\ 

 (1) ABA (2) lkbVksdkbfuu 

 (3) ftCcjsfyu (4) ,Fkhfyu 

115. A rFkk B ds fy, lgh fodYi dk p;u dj uhps fn, 

x, dFku dks iw.kZ dhft,A 

 “ifÙk;ksa] Qyksa rFkk iq’iksa ds >M+us dks izksRlkfgr djus 

ds fy, A  rFkk B  nksukas mÙkjnk;h gksrs gSa”A 

  A B 

 (1) vkWfDlu lkbVksdkbfuu 

 (2) ,Fkhfyu ftCcjsfyu 

 (3) ABA ,Fkhfyu 

 (4) lkbVksdkbfuu ABA 

116. fn;k x;k dkSulk ikni gkWeksZu o`f) dks izksRlkfgr 

djus ds lkFk&lkFk mls jksdus okyh fØ;kvksa esa “kkfey 

gksrk gS\ 

 (1) ABA (2) ,Fkhfyu 

 (3) ftCcjsfyu (4) vkWfDlu 

117. fn, x, dFkukas dks if<+, ,oa mudh lR; (T) ;k vlR; 

(F) ds :i esa igpku dj lgh fodYi dk p;u 

dhft,A 

 dFku-A: vjaMh esa chti= vadqj.k ds nkSjku Hkwfexr 

cus jgrs gSaA 

 dFku-B: th.kZrk dks vkWfDlu }kjk jksdk tkrk gS 

tcfd ABA }kjk mn~nhfir fd;k tkrk gSA 

 dFku-C: rVLFk ikniksa dks iq’iu ds fy, izdk”k dh 

vko”;drk ugha gksrhA 

  A B C 

 (1) T T T 

 (2) F F T 

 (3) T F T 

 (4) F T F 
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118. ABA is mainly a growth inhibiting hormone but it can 
be used to 

 (1) Reduce requirement of irrigation in plant 

 (2) Overcome dominance of apical buds 

 (3) Induce seed germination 

 (4) Reduce abscission of plant parts 

119. All of the following are inhibitors of seed 
germination except 

 (1) ABA 

 (2) Phenolics 

 (3) Impermeable seed coat 

 (4) Gibberellins 

120. Choose the odd one w.r.t. photoperiodic response. 

 (1) Wheat 

 (2) Henbane 

 (3) Soyabean 

 (4) Radish 

121. Identify the wrong statement. 

 (1) Shoot apices perceive photoperiod and modify 
into flowering apices 

 (2) Cucumber being DNP can flower throughout the 
year 

 (3) Mangrove plants show vivipary  

 (4) Knowledge of photoperiodism is useful for 
commercial flower growers 

122. Vernalisation do not play important role in flowering 
in 

 (1) Winter wheat 

 (2) Carrot 

 (3) Spring wheat 

 (4) Cabbage 

123. Gibberellin induces bolting in 

 (1) Beet (2) Wheat 

 (3) Sugarcane (4) Mango 

124. How many of the below given statements is/are 
true? 

 a. Only photoperiodism is necessary phenomenon 
for flowering process not the vernalisation 

 b. ABA is a carotenoid derivative 

 c. All winter flowering plants are SDPs 

 d. Vernalisation prevents precocious reproductive 
development in biennials 

 (1) 4 (2) 3 

 (3) 2 (4) 1 

125. In tea plantation, the most important role played by 
a hormone is 

 (1) Auxin (2) GA 

 (3) ABA (4) Cytokinin 

118. ABA eq[;r% ,d o`f) laned gkWeksZu gS ijUrq bldk 

mi;ksx _____ Hkh fd;k tk ldrk gSA 

 (1) ikni esa flapkbZ dh vko”;drk dks ?kVkus esa 

 (2) f”k[kkxz dfydkvksa dh iz/kkurk dks nwj djus esa 

 (3) cht vadqj.k dks izsfjr djus esa 

 (4) ikni Hkkxksa ds foyxu dks de djus esa 

119. fdlds vfrfjDr “ks’k lHkh cht vadqj.k ds laned gSa\ 

 (1) ABA 

 (2) fQuksfyDl 

 (3) vikjxE; cht vkoj.k 

 (4) ftCcjsfyu 

120. nhfIrdkyh izfrfØ;k ds fy, fo’ke dk p;u dhft,A 

 (1) xsgw¡ (2) gsucsu 

 (3) lks;kchu (4) ewyh 

121. xyr dFku dh igpku dhft,A 

 (1) izjksg f”k[kkxz nhfIrdky dk vuqHko dj iq’ih; 

dfydk esa cny tkrk gS 

 (2) DNP gksus ds dkj.k [khjk lkyHkj iq"i mRiUu dj 

ldrk gS  

 (3) eSaxzkso ikni tjk;qtrk n”kkZrs gSa 

 (4) O;olkf;d :i ls iq’i mxkus okyks ds fy, 

nhfIrdkfyrk dh tkudkjh mi;ksxh gksrh gS 

122. fuEufyf[kr fdl ikni esa olarhdj.k] iq’iu esa 

egRoiw.kZ Hkwfedk ugha fuHkkrk\ 

 (1) tkMs+ dk xsgw¡ (2) xktj 

 (3) clar dk xsgw¡ (4) iÙkkxksHkh 

123. ftCcjsfyu fdlesa mRLQqVu izsfjr djrk gS\ 

 (1) pqdanj (2) xsgw¡ 

 (3) xUuk (4) vke 

124. fuEufyf[kr esa ls fdrus dFku lgh gS@gSa\ 

 a. iq’iu dh izfØ;k ds fy, olarhdj.k ugha dsoy 

nhfIrdkfyrk vko”;d gksrh gS 

 b. ABA ,d dSjksVsukWbM O;qRiUu gS 

 c. lHkh tkMs+ esa iq’i mRiUu djus okys ikni SDP 

gksrs gaS 

 d. olarhdj.k] f}of’kZ;ksa esa le; ls igys gksus okys 

tuuh; fodkl dks jksdrk gS 

 (1) 4 (2) 3 

 (3) 2 (4) 1 

125. pk; ds ckxkuksa esa dkSulk gkWeksZu lcls egRoiw.kZ 

Hkwfedk fuHkkrk gS\ 

 (1) vkWfDlu (2) GA 

 (3) ABA (4) lkbVksdkbfuu 
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126. The asexual reproductive structure of 

Chlamydomonas is 

 (1) Conidia 

 (2) Microscopic and motile 

 (3) Non-flagellated structure 

 (4) Called gemmule 

127. Choose the correct one(s) for life span. 

 a. Period from birth to natural death. 

 b. It varies according to size of organisms such as 

bigger organisms have longer life span. 

 c. Crocodile have life span of 60 years. 

 (1) Only a (2) Both a and b 

 (3) Only c (4) Both a and c 

128. Identify the wrongly matched pair of plant with its 

vegetative propagule. 

 (1) Ginger – Rhizome 

 (2) Bryophyllum – Stem bud 

 (3) Potato – Eye or bud on stem 

 (4) Water hyacinth – Offset 

129. Interflowering period is absent in 

 (1) Mango (2) Apple 

 (3) Wheat (4) Orange 

130. Read the below given statements and select the 

correct option. 

 Statement-A: Coconut and date palm are 

monoecious. 

 Statement-B: Strobilanthus kunthiana flowers once 

in 12 years. 

 Statement-C: All biennials are monocarpic. 

 (1) Only B is correct 

 (2) Only A and B are correct 

 (3) Only B and C are correct 

 (4) All A, B and C are correct 

131. Select the odd one w.r.t. organisms producing 

heterogametes. 

 (1) Fucus (2) Human 

 (3) Marchantia (4) Cladophora 

126. DySek;Mkseksukl esa ik;h tkus okyh vySafxd tuuh; 

lajpuk 

 (1) dksfufM;k gS 

 (2) lw{e rFkk py gksrh gS 

 (3) v&d”kkfHkdh; lajpuk gS 

 (4) eqdqy dgykrh gS 

127. thou dky ds fy, lgh dFku@dFkuksa dk p;u 

dhft,A 

 a. ;g tho ds tUe ls ysdj mldh izkd`frd e`R;q 

rd dh vof/k gSA 

 b. ;g thoksa ds vkdkj ds vuqlkj fHkUu&fHkUu gksrk gS 

tSls cMs+ thokas dk thoudky yack gksrk gSA 

 c. exjePN dk thoudky 60 o’kksZa dk gksrk gSA 

 (1) dsoy a (2) a rFkk b nksuksa 

 (3) dsoy c (4) a rFkk c nksuksa 

128. ikni o mlds dkf;d izo/;Z ds vlqesfyr ;qXe dh 

igpku dhft,A 

 (1) vnjd – izdan 

 (2) czk;ksQkbye – rus dh dfydk 

 (3) vkyw – rus ij vk¡[ksa ;k  

  dfydk 

 (4) tydqaHkh – HkwLrkfjdk 

129. fdlesa varjiq’iu vof/k vuqifLFkr gksrh gS\ 

 (1) vke (2) lsc 

 (3) xsgw¡ (4) larjk 

130. uhps fn;s x, dFkuksa dks i<+dj lgh fodYi dk p;u 

dhft,A 

 dFku-A: ukfj;y o [ktwj mHk;fyaxkJ;h gSaA 

 dFku-B: LVªksfcysUFkl dqafFk;kuk ij 12 o’kksZa esa dsoy 

,d ckj iq’i vkrs gSaA 

 dFku-C: lHkh f}o’khZ ikni ,d”k%Qyu gksrs gSaA 

 (1) dsoy B lgh gS 

 (2) dsoy A rFkk B lgh gS 

 (3) dsoy B rFkk C lgh gS 

 (4) A, B rFkk C lHkh lgh gSa 

131. fo’ke;qXed mRiUu djus okys thoksa ds fy, fo’ke dk 

p;u dhft,A 

 (1) ¶;wdl (2) ekuo 

 (3) ekdsZfU”k;k (4) DysMksQksjk 
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132. Female sex organ of Chara is known as 

 (1) Archaegonium 

 (2) Antheridium 

 (3) Oogonium 

 (4) Carpel 

133. The structure that ensures continuity of species 

between one generation to next is 

 (1) Ovum (2) Zygote 

 (3) Embryo (4) Ovule 

134. Mark the odd one for pre-fertilisation events. 

 (1) Gametogenesis 

 (2) Pollination 

 (3) Gamete transfer 

 (4) Embryogenesis 

135. Choose the incorrect statement. 

 (1) External fertilisation is seen in algae 

 (2) In angiosperms, ovule wall develops into 

pericarp after fertilisation 

 (3) In some fungi and algae both the gametes are 

motile 

 (4) In Marchantia, sex organs are produced on 

stalks 

132. dkjk dk eknk ySafxd vax D;k dgykrk gS\ 

 (1) L=h/kkuh 

 (2) iqa/kkuh 

 (3) v.M/kkuh 

 (4) vaMi 

133. dkSulh lajpuk ,d ih<+h ls vxyh ih<+h ds chp tkfr 

dh fujarjrk dks lqfuf”pr djrh gS\ 

 (1) v.M (2) ;qXeut 

 (3) Hkzw.k (4) chtkaM 

134. fu’kspu&iwoZ ?kVukvksa ds fy, fo’ke dk p;u dhft,A 

 (1) ;qXedtuu 

 (2) ijkx.k 

 (3) ;qXed LFkkukarj.k 

 (4) Hkzw.ktuu 

135. xyr dFku dk p;u dhft,A 

 (1) ckgjh fu’kspu “kSoky esa ik;k tkrk gS 

 (2) vko`rchft;ksa esa chtkaM fHkfÙk fu’kspu ds ckn 

QyfHkfÙk esa cny tkrh gS 

 (3) dqN dod rFkk “kSoky nksuksa esa py ;qXed gkssrs gSa 

 (4) ekdsZfU”k;k esa ySafxd vax] o`aÙk ij mRiUu gksrs gSa 

ZOOLOGY 

136.  Select the mismatched w.r.t. hormones and its 

sources  

 (1) Glucagon – Pancreas 

 (2) ANF  – Kidney  

 (3) Androgens – Testes  

 (4) Estrogens – Ovary 

137. The Na+ – K+ pump transports 3 A  outwards for 

2 B  into the axon maintaining the polarisation 

state when the neuron is in C . 

 Choose the option that correctly fill the blanks A, B 

and C. 

 (1) K+, Na+, Depolarisation state 

 (2) K+, Na+, Repolarisation state 

 (3) Ca+2, K+, Repolarisation state 

 (4) Na+, K+, Resting state 

136.  gkeksZu vkSj blds L=ksr ds lanHkZ esa vlqesfyr dk p;u 

dhft,A 

 (1) XywdkxkWu – vXuk'k; 

 (2) ANF   – o`Dd 

 (3) ,aMªkstu – o`"k.k  

 (4) ,LVªkstu – vaMk'k; 

137. Na+ – K+ iai èkzqo.k voLFkk cuk, j[kus gsrq raf=dk{k esa 

2 B ds izos'k ds fy, 3 A  ckgj fudyrk gS 

tc U;wjkWu C esa gksrk gSA  

 fjDr LFkkuksa A, B o C dks lgh :i ls Hkjus okys 

fodYi dk p;u dhft,A 

 (1) K+, Na+, foèkzqo.k voLFkk 

 (2) K+, Na+, iqu/kqzZo.k voLFkk 

 (3) Ca+2, K+, iqu/kqzZo.k voLFkk 

 (4) Na+, K+, fojkekoLFkk 
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138. A hormone ‘P’ responsible for maintaining corpus 

luteum also acts on ‘R’ cells in male testes to 

stimulate the synthesis and secretion of S. Identify 

the ‘P’, ‘R’ and ‘S’ 

   P R S 

(1) FSH Leydig cells Androgens 

(2) LH Sertoli cells Estrogen 

(3) FSH Sertoli cells Progesterone 

(4) LH Leydig cells Androgens 

139. How many of the following options are correct for 

adrenocorticoids? 

 a. Lipid soluble 

 b. Work through second messenger 

 c. Deficiency may lead to diabetes insipidus 

 (1) Only a 

 (2) Both a and b 

 (3) Only b 

 (4) a, b and c all 

140.  Injury to thymus is likely to affect the secretion of 

which of the following hormone? 

 (1) Cortisol (2) Melanin 

 (3) Thymosin (4) Adrenaline 

141. Select the correct match of a hormone, its source 

and function. 

  Hormone Source Function 

(1) Oxytocin Anterior 

pituitary 

Ejection of milk 

(2) Prolactin Hypothalamus Mammary gland 

(3) Parathyroid 

hormone 

Thyroid gland Regulates the Ca++ 

metabolism 

(4) Mineralocorticoids Adrenal cortex Control the 

electrolyte and water 

balance of the body 

142. Gland(s) which secretes hypocalcemic hormone is 

present  

 (1) In abdominal cavity 

 (2) In pelvic region 

 (3) On either side of trachea 

 (4) In mediastinum 

138. dkiZl Y;qfV;e dks cuk, j[kus ds fy, mÙkjnk;h 

gkWeksZu ‘P’, S ds la'ys"k.k vkSj L=o.k dks izsfjr djus 

gsrq iq#"k ds o`"k.kksa esa ‘R’ dksf'kdkvksa ij Hkh dk;Z djrk 

gSA ‘P’, ‘R’ o ‘S’ dks igpkfu,A 

   P R S 

(1) FSH yhfMx 

dksf'kdk,a 

,aMªkstu 

(2) LH lVksZyh 

dksf'kdk,a 

,LVªkstu 

(3) FSH lVksZyh 

dksf'kdk,a 

izkstsLVsjkWu 

(4) LH yhfMx 

dksf'kdk,a 

,aMªkstu 

139. ,MªhuksdksfVZdkWbM~l ds fy, fuEufyf[kr esa ls fdrus 

fodYi lgh gSa\ 

 a. fyfiM foys; 

 b. f}rh; lans'kokgd ds ekè;e ls dk;Z djrk gS 

 c. budh deh ds dkj.k Mk;fcVht bUlhfiM~l gks 

ldrk gS 

 (1) dsoy a (2) a o b nksuksa 

 (3) dsoy b (4) a, b o c  lHkh 

140.  Fkk;el esa pksV yxus ls fuEufyf[kr esa ls dkSu ls 

gkeksZu dk L=o.k izHkkfor gksus dh laHkkouk jgrh gS\ 

 (1) dksfVZlkWy (2) esysfuu 

 (3) Fkkbeksflu (4) ,Mªhusyhu 

141. gkWeksZu] blds L=ksr vkSj dk;Z ds lgh feyku dk p;u 

dhft,A 

  gkWeksZu lzksr dk;Z 

(1) vkWDlhVksflu vxzih;w"k nqX/k dk mR{ksi.k 

(2) izksysfDVu gkbiksFksysel LruxzafFk 

(3) iSjkFkkbjkWbM 

gkWeksZu 

FkkbjkWbM 

xzafFk 

Ca++ mikip; dks 

fu;af=r djrk gS 

(4) feujyksdksfVZdkWb

M~l 

vf/ko`Dd 

oYdqV 

oS|qrvi?kV~; vkSj 

'kjhj esa ty 

laarqyu dks 

fu;af=r djrk gS 

142. gkbiksdSfYlfed gkWeksZu L=kfor djkus okyh xzafFk;k¡ 

mifLFkr gksrh gSa\ 

 (1) mnj xqgk esa 

 (2) Jksf.k {ks= esa 

 (3) 'okl uyh ds nksuksa vksj 

 (4) eè;kodk'k esa 
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143. Which of the following statement is incorrect?  

 (1) MSH acts on melanocytes in skin  

 (2) Human growth hormone stimulates protein 

synthesis in muscle cells 

 (3) Adenohypophysis hormones mostly control 

activity of other glands 

 (4) Inhibiting hormones of hypothalamus act on 

both adenohypophysis and neurohypophysis 

144. Secretion of which of the hormones is largely 

influenced by FSH? 

 (1) Estrogen (2) Progesterone 

 (3) Mineralocorticoids (4) Cortisol 

145. Addison’s disease is characterised by all of the 

followings except 

 (1) Low blood sugar (2) Hyponatremia 

 (3) Hyperkalemia (4) High blood pressure 

146. Read the following statements and choose the 

  correct option. 

 A. The neural organisation in Hydra is composed 

of a network of neurons. 

 B. In cockroach, the neural system is organised as 

a brain along with a number of ganglion and 

neural tissue. 

 (1) Both statements are correct 

 (2) Both statements are incorrect 

 (3) Only statement A is correct 

 (4) Only statement B is correct 

147. Match the column I with column II and choose the 

correct answer. 

 Column I  Column II 

a. Graves’ 

disease 

(i) Anti-inflammatory 

in action 

b. Melatonin (ii) Influences 

metabolism 

c. TSH (iii) Acts on thyroid 

gland 

d. Glucocorticoids (iv) Goitre 

 (1) a(iv), b(ii), c(i), d(iii) (2) a(iv), b(ii), c(iii), d(i) 

 (3) a(iv), b(i), c(ii), d(iii) (4) a(i), b(ii), c(iii), d(iv) 

143. fuEufyf[kr esa ls dkSulk dFku xyr gS\ 

 (1) MSH Ropk esa esysukslkbV~l ij dk;Z djrk gS 

 (2) ekuo o`f) gkWeksZu is'kh dksf'kdkvksa esa izksVhu 

la'ys"k.k dks izsfjr djrk gS 

 (3) ,MhuksgkbIkksQkbfll gkeksZUl vf/kdka'kr% vU; 

xzafFk;ksa dh fØ;k dks fu;af=r djrs gSa 

 (4) gkbiksFksysel ds laneudkjh gkWeksZu 

,MhuksgkbiksQkbfll vkSj U;wjksgkbiksQkbfll nksuksa 

ij dk;Z djrs gSa 

144. dkSu ls gkWeksZu dk L=o.k iw.kZr;k FSH }kjk izHkkfor 

gksrk gS\ 

 (1) ,LVªkstu  (2) izkstsLVsjkWu 

 (3) feujyksdksfVZdkWbM~l (4) dksfVZlkWy 

145. ,Mhlu jksx fdlds vfrfjDr vU; lHkh ds }kjk 

vfHky{kf.kr gksrk gS\ 

 (1) fuEu jDr 'kdZjk (2) gkbiksuSVªhfe;k 

 (3) gkbijdSfyfe;k (4) mPp jDr nkc 

146. fuEufyf[kr dFkuksa dks if<+, rFkk lgh fodYi dk 

p;u dhft,A 

 A. gkbMªk esa raf=dh; laxBu U;wjksal ds tky ls cuk 

gksrk gSA 

 B. dkWdjksp esa rf=dk ra= dbZ xqfPNdkvksa vkSj 

raf=dk Ård ds lkFk efLr"d ds :i esa O;ofLFkr 

gksrk gSA 

 (1) nksuksa dFku lgh gSa 

 (2) nksuksa dFku xyr gSa 

 (3) dsoy dFku A lgh gS 

 (4) dsoy dFku B lgh gS 

147. dkWye I rFkk dkWye II ls feykudj lgh mÙkj dk 

p;u dhft,A 

 dkWye I  dkWye II 

a. xzsol jksx (i) fØ;k esa 

izfr&'kksFkdkjh 

gksrk gS 

b. esysVksfuu (ii) mikip; dks 

izHkkfor djrk gS 

c. TSH (iii) Fkk;jkWbM xzafFk ij 

dk;Zjr gS 

d. XywdksdksfVZdkWbM~l (iv) xyx.M 

 (1) a(iv), b(ii), c(i), d(iii) (2) a(iv), b(ii), c(iii), d(i) 

 (3) a(iv), b(i), c(ii), d(iii) (4) a(i), b(ii), c(iii), d(iv) 
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148. Identify the following labelled structures A and B 

with their correct secretion respectively 

 

 (1) Catecholamine, Aldosterone 

 (2) Glucocorticoids, Mineralocorticoids 

 (3) Adrenaline, Mineralocorticoids  

 (4) Erythropoietin, Sex corticoids 

149. Read the following statements and choose the 

correct answer. 

 Statement-A : Small amounts of androgenic 

steroids are also secreted by the whole adrenal 

gland which play a role in the growth of axial hair, 

pubic hair, and facial hair during puberty. 

 Statement-B : Cortisol is involved in maintaining 

the cardio-vascular system as well as the kidney 

functions. 

 (1) Both statements are correct  

 (2) Both statements are incorrect 

 (3) Only statement A is correct 

 (4) Only statement B is correct 

150. Select the correct antagonistic pair of hormones 

 (1) Epinephrine and norepinephrine 

 (2) TSH and ACTH 

 (3) Insulin and glucagon 

 (4) FSH and MSH 

151. Which of the following pairs of hormones are the 

examples of those that can’t easily pass through the 

cell membrane and bind to receptors present on the 

cell membrane? 

 (1) Insulin, cortisol 

 (2) Glucagon, aldosterone 

 (3) Somatostatin, oxytocin 

 (4) Estrogen, progesterone 

152. Androgens regulate the male sexual behaviours are 

also involved in all of the following functions except 

 (1) Maturation and functions of the male accessory 

sex organs 

 (2) Spermatogenesis 

 (3) Erythropoiesis 

 (4) Catabolic effects on protein and carbohydrate 

metabolism 

148. fuEufyf[kr ukekafdr lajpukvksa A o B dks Øe'k% buds 

lgh L=o.k ds lkFk igpkfu,A 

 

 (1) dSVsdksykehu] ,YMksLVsjkWu 

 (2) XywdksdksfVZdkWbM~l] feujyksdksfVZdkWbM~l 

 (3) ,Mªhusyhu] feujyksdksfVZdkWbM~l 

 (4) bfjFkzksiksbZfVu] fyax dksfVZdkWbM~l 

149. fuEufyf[kr dFkuksa dks if<+, rFkk lgh mÙkj dk p;u 

dhft,A 

 dFku-A : laiw.kZ ,Mªhuy xzafFk }kjk dqN ek=k esa 

,aMªkstsfud LVsjkW;M~l dk Hkh L=ko gksrk gS tks 

;kSoukjaHk ds nkSjku v{kh; jkse] t?ku jkse rFkk eq[k 

jkse dh o`f) esa Hkwfedk fuHkkrk gSA 

 dFku-B : dksfVZlkWy ân; laoguh ra= ds j[k&j[kko 

rFkk o`Dd dh fØ;kvksa esa Hkh layXu gksrk gSA 

 (1) nksuksa dFku lgh gSa 

 (2) nksuksa dFku xyr gSa 

 (3) dsoy dFku A lgh gS 

 (4) dsoy dFku B lgh gS 

150. gkWeksZu ds lgh fojks/kh ;qXe dk p;u dhft,A 

 (1) ,fiusÝhu vkSj ukWj ,fiusÝhu 

 (2) TSH vkSj ACTH 

 (3) balqfyu vkSj XywdkxkWu 

 (4) FSH vkSj MSH 

151. gkeksZUl dk fuEufyf[kr esa ls dkSulk ;qXe mu gkeksZUl 

ds mnkgj.k gSa tks dksf'kdk f>Yyh ls vklkuh ls ugha 

xqtj ldrs gSa rFkk dksf'kdk f>Yyh ij mifLFkr 

xzkfg;ksa ls c¡èkrs gSa\ 

 (1) balqfyu] dksfVZlkWy 

 (2) XywdkxkWu] ,YMksLVsjkWu 

 (3) lksesVksLVsfVu] vkWDlhVksflu 

 (4) ,LVªkstu] izkstsLVsjkWu 

152. uj ySafxd O;ogkj dks fu;af=r djus okys ,aMªkstu 

fdlds vfrfjDr vU; lHkh dk;ks± esa Hkh lfEefyr gksrs 

gSa\  

 (1) uj lgk;d ySafxd vaxksa ds dk;Z vkSj ifjiDou 

 (2) 'kqØtuu 

 (3) ,fjFkzksiksbZfll 

 (4) izksVhu vkSj dkcksZgkbMªsV mikip; ij vip;h izHkko 
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153. The below given flow chart represents the hormonal 

control over the digestive glands. Correctly identify 

the X, Y and Z. 

 

 X Y Z 

(1) GIP Gastrin Secretin 

(2) CCK GIP Secretin 

(3) Gastrin Secretin GIP 

(4) Secretin GIP Gastrin 

154. How many hormones from given below in box are 

steroids? 

Cortisol, Estradiol, Thyroid hormone, 

Epinephrine, Insulin  

 (1) Two (2) Three 

 (3) Four (4) Five 

155. Hormones are involved in 

 a. Coordination 

 b. Integration 

 c. Regulation 

 Select the correct option 

 (1) Only a (2) Only a and b 

 (3) Only c (4) a, b and c 

156. Select the incorrect statement w.r.t. acromegaly 

 (1) It is a disorder of hyposecretion of pituitary 

gland 

 (2) It generally occurs in middle age persons  

 (3) It causes disfigurement of the face 

 (4) It is hard to diagnose in the early stages and 

often goes undetected for many years 

157. Brain stem 

 (1) Is present between thalamus and hypothalamus 

 (2) Forms connection between the diencephalon 

and spinal cord 

 (3) Consists of only white matter 

 (4) Consists of only grey matter 

153. uhps fn;k x;k izokg fp= ikpu xzafFk;ksa ij gkeksZu 

fu;a=.k dks iznf'kZr djrk gSA X, Y o Z dks lgh :i ls 

igpkfu,A 

 

 X Y Z 

(1) GIP xSfLVªu lsØsfVu 

(2) CCK GIP lsØsfVu 

(3) xSfLVªu lsØsfVu GIP 

(4) lsØsfVu GIP xSfLVªu 

154. uhps fn, x, ckWDl esa ls fdrus gkWeksZUl LVsjkWbM~l gSa\  

dksfVZlkWy] ,LVªkfMvkWy] Fkk;jkWbM 

gkWeksZu] ,fiusÝhu] balqfyu 

 (1) nks (2) rhu 

 (3) pkj (4) ik¡p 

155. gkWeksZUl lfEefyr gksrs gSa 

 a. leUo;u esa 

 b. ,dhdj.k esa 

 c. fu;eu esa 

 lgh fodYi dk p;u dhft,A 

 (1) dsoy a (2) dsoy a rFkk b 

 (3) dsoy c (4) a, b rFkk c 

156. ,Øksfexsyh ds lanHkZ esa xyr dFku dk p;u dhft,A 

 (1) ;g ih;w"k xzafFk ds vYi L=o.k dk ,d fodkj gS 

 (2) ;g lkekU;r% eè; vk;q oxZ ds O;fDr;ksa esa gksrk gS 

 (3) blds dkj.k psgjk foÑr gksrk gS 

 (4) bls 'kq#vkrh voLFkk esa igpkuuk dfBu gS rFkk 

izk;% dbZ o"kks± rd bldk irk ugha pyrk gS 

157. efLr"d LraHk 

 (1) Fksysel vkSj gkbiksFksysel ds chp mifLFkr gksrk gS 

 (2) Mkb,UlsQsyku vkSj es#jTtq ds chp laca/k fufeZr 

djrk gS 

 (3) dsoy 'osr nzO; dk cuk gksrk gS 

 (4) dsoy /kwlj nzO; dk cuk gksrk gS 
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158. Choose the structure which is excluded in limbic 

system 

 (1) Amygdala (2) Hypothalamus 

 (3) Hippocampus (4) Corpus callosum 

159. A chemical that has only endocrine role is 

 (1) Catecholamines (2) Epinephrine 

 (3) Norepinephrine (4) Calcitonin 

160. Which of the following pairs of organs includes only 

heterocrine glands? 

 (1) Adrenal and ovary 

 (2) Thymus and testes 

 (3) Pancreas and ovary 

 (4) Thyroid and parathyroid 

161. Bowman’s gland is associated with 

 (1) Gustatoreceptors 

 (2) Olfactoreceptors 

 (3) Organ of Corti 

 (4) Vestibular apparatus 

162. The switch off centre for inspiration is present in 

 (1) Pons 

 (2) Medulla oblongata 

 (3) Cerebellum 

 (4) Cerebrum 

163. Which of the following statement is incorrect for 

nodes of Ranvier? 

 (1) Known for saltatory conduction 

 (2) Absent in unmyelinated axon 

 (3) These are gaps between adjacent myelin 

sheaths  

 (4) Present in only cranial nerves 

164. Identify the structure which contains many blood 

vessels and looks bluish in colour 

 (1) Pupil (2) Cornea 

 (3) Lens (4) Choroid 

165. Select the correct match w.r.t. structures of human 

eye 

 (1) Retina – More vascular than choroid 

 (2) Fovea – Cones and rods are absent  

 (3) Blind spot – Optic nerve leaves the eye ball 

 (4) Ora serrata – Greatest visual acuity 

158. ml lajpuk dk p;u dhft, tks fyafcd ra= esa 

lfEefyr ugha gksrh gS 

 (1) ,fexMkyk (2) gkbiksFksysel 

 (3) fgIiksdSEil (4) dkWiZl dSyksle 

159. og jlk;u ftldh dsoy var%L=ko esa Hkwfedk gksrh gS 

 (1) dSVsdksykehu (2) ,fiusÝhu 

 (3) ukWj&,fiusÝhu (4) dSfYlVksfuu 

160. vaxksa dk fuEufyf[kr esa ls dkSulk ;qXe dsoy 

gsVsjksØkbu xzafFk;ksa esa lfEefyr gksrk gS\ 

 (1) ,Mªhuy vkSj vaMk'k; 

 (2) Fkkbel vkSj o`"k.k 

 (3) vXuk'k; vkSj vaMk'k; 

 (4) Fkk;jkWbM vkSj iSjkFkk;jkWbM 

161. cksesu xzafFk lacaf/kr gksrh gS 

 (1) Loknxzkfg;ksa ls 

 (2) ?kzk.k xzkfg;ksa ls 

 (3) vkWxZu vkWQ dkWVkZbZ ls 

 (4) osLVhcwyj midj.k ls 

162. var%'olu ds fy, fLop vkWQ dsUnz mifLFkr gksrk gS 

 (1) iksal esa 

 (2) esMqyk vksCyksxsaVk esa 

 (3) vuqefLr"d esa 

 (4) izefLr"d esa 

163. fuEufyf[kr esa ls dkSulk dFku jsUoh;j ds uksM ds 

fy, xyr gS\ 

 (1) izoYxh pkyu ds fy, tkus tkrs gSa 

 (2) vkPNnghu raf=dk{k esa vuqifLFkr gksrs gSa 

 (3) ;g layXu ek;fyu vkoj.k esa fuf'pr varjky 

gksrk gS 

 (4) dsoy dikyh; raf=dkvksa esa mifLFkr gksrs gSa 

164. ml lajpuk dh igpku dhft, ftlesa dbZ jDr 

okfgfu;k¡ gksrh gSa rFkk uhys jax dh fn[kkbZ nsrh gSa 

 (1) I;wfiy (2) dkWfuZ;k 

 (3) ysal (4) dksjkWbM 

165. ekuo us= dh lajpukvksa ds lanHkZ esa lgh feyku dk 

p;u dhft,A 

 (1) jsfVuk – dksjkWbM ls vf/kd laoguh; gksrk gS 

 (2) Qksfc;k – 'kadq vkSj 'kykdk,¡ vuqifLFkr gksrh 

gSa 

 (3) va/k fcanq – n`d raf=dk,¡ us=xksyd dks NksM+rh 

gSa 

 (4) vksjk lsjkVk – vf/kdre n`d rh{.krk gksrk gS 
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166. Read the following statements w.r.t. knee jerk reflex 

 A. Efferent neuron terminates at grey matter of 

CNS. 

 B. The organisation of sensory neuron and motor 

neuron is 1 : 1 pattern. 

 C. Motor neurons carry impulses to the smooth 

muscles (effectors). 

  From above 

 (1) A and B are correct, C is incorrect 

 (2) B and C are correct, A is incorrect 

 (3) A and C are correct, B is incorrect 

 (4) A, B and C all are correct 

167. All of the following statements are correct w.r.t. 

cornea in human eye except 

 (1) It causes refraction of light majorly 

 (2) It is highly vascular structure 

 (3) It absorbs oxygen from atmosphere 

 (4) It can be easily transplanted 

168. Consider the following functions 

 A. Dilation of pupil 

 B. Increase in secretion of gastric juice 

 C. Increase in heart rate 

 D. Relaxation of urinary bladder 

 How many of the above are associated with 

sympathetic nervous system? 

 (1) Two (2) Three 

 (3) Four (4) One 

169. Which of the following ear ossicle is directly 

attached to the oval window? 

 (1) Only malleus 

 (2) Only incus 

 (3) Only stapes 

 (4) Both malleus and Incus 

170. Neurons which contains single axon are present in  

 a. Cerebral cortex b. Retina of eye 

 c. Embryonic stage d. Dorsal root ganglia 

 Choose the correct option 

 (1) a, b and c (2) a, c, d 

 (3) b, c and d (4) All a, b, c and d 

166. uh tdZ fj¶ysDl ds lanHkZ esa fuEufyf[kr dFkuksa dks 

if<+,A 

 A. viokgh U;wjkWu CNS ds /kwlj nzO; ij lekIr gksrk 

gS 

 B. laosnh U;wjkWu vkSj izsjd U;wjkWu dk laxBu 1 : 1 

iSVuZ ij gksrk gS 

 C. izsjd U;wjkWu vkosxksa dks fpduh isf'k;ksa (izHkkod) 

rd ys tkrk gS 

 (1) A o B lgh gSa] C xyr gS 

 (2) B o C lgh gSa] A xyr gS 

 (3) A o C lgh gSa] B xyr gS 

 (4) A, B o C lHkh lgh gSa 

167. ekuo us= esa dkWfuZ;k ds lanHkZ esa fdlds vfrfjDr 

fuEufyf[kr lHkh dFku lgh gSa\ 

 (1) blds dkj.k eq[; :i ls izdk'k dk viorZu gksrk 

gS 

 (2) ;g vfr laoguh; lajpuk gS 

 (3) ;g ok;qeaMy ls vkWDlhtu vo'kksf"kr djrk gS  

 (4) ;g vklkuh ls izR;kjksfir fd;k tk ldrk gS 

168. fuEufyf[kr dk;ks± dks if<+,A 

 A. I;wfiy dk foLrkj.k 

 B. tBj jl ds L=o.k esa o`f) 

 C. ân; nj esa o`f) 

 D. ew=k'k; dk f'kfFkyu 

 mijksDr esa ls fdrus vuqdaih raf=dk ra= ls lacaf/kr 

gksrs gSa\ 

 (1) nks (2) rhu 

 (3) pkj (4) ,d 

169. fuEufyf[kr esa ls dkSulh d.kZ vfLFkdk izR;{k :i ls 

vaMkdkj f[kM+dh ls lacaf/kr gksrh gS\ 

 (1) dsoy esfy;l 

 (2) dsoy bUdl 

 (3) dsoy LVsiht 

 (4) esfy;l vkSj bUdl nksuksa 

170. U;wjksal ftuesa ,dy raf=dk{k gksrk gS] mifLFkr gksrs gSa 

 a. izefLr"d oYdqV esa 

 b. us= ds jsfVuk esa 

 c. Hkzw.kh; voLFkk esa 

 d. i`"Bh; ewy xqfPNdk esa 

 lgh fodYi dk p;u dhft,A 

 (1) a, b o c (2) a, c, d 

 (3) b, c o d (4) a, b, c o d lHkh 
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171. Select the correct option for difference between 

electrical and chemical synapse  

  Feature Electrical 

synapse 

Chemical 

synapse 

(1) Transmission of 

impulse 

Unidirection Bidirectional 

(2) Neurotransmitter Required  Not required 

(3) Synaptic cleft Not filled with 

synaptic fluid 

Filled with 

synaptic fluid 

(4) Abundance in 

body 

More  Very less 

172. Vestibular apparatus of membranous labyrinth 

includes how many structures from given below in 

box? 

Crista ampullaris, Macula, Otolith organ,  

Saccule, Utricle, Tectorial membrane 

 (1) Two (2) Three 

 (3) Four (4) Five 

173. Aqueduct of Sylvius connects  

 (1) First and second ventricles of the brain 

 (2) Second and third ventricles of the brain 

 (3) Third and fourth ventricles of the brain 

 (4) Optocoel to metacoel 

174. Following is diagrammatic representation of impulse 

conduction through an axon 

 

 Here 

 (1) Point A represents rapid influx of Na+ ions 

 (2) Point B represents rapid influx of K+ ions 

 (3) Point C represents transportation of ions by the 

sodium-potassium pump which transport 3Na+ 

outwards for 2K+ inwards 

 (4) Point A represents rapid influx of Ca+2 ions 

175. All of the followings are in direct contact with lens 

except 

 (1) Aqueous humour 

 (2) Vitreous humour 

 (3) Suspensory ligament of ciliary body 

 (4) Iris and photoreceptor cells 

171. oS|qr vkSj jklk;fud flusIl ds chp varj ds fy, 

lgh fodYi dk p;u dhft,A 

  y{k.k oS|qr flusIl jklk;fud 

flusIl 

(1) vkosx dk lapj.k ,dfn'kkRed f}fn'kkRed 

(2) raf=dklapkjd vko';d gS vko';d ugha 

(3) flusfIVd njkj flusfIVd nzo 

ls ugha Hkjh 

jgrh gS 

flusfIVd nzo 

ls Hkjh jgrh 

gS 

(4) 'kjhj esa izpqjrk  vf/kd cgqr de 

172. f>Yyhe; yscfjaFk ds osLVhC;wyj midj.k esa uhps fn, 

x, ckWDl esa ls fdruh lajpuk,¡ lfEefyr gksrh gSa\ 

fØLVk ,aiqySfjl] eSD;wyk] vkWVksfyFk vax] lSD;wy] 

;wVªhdy] VsDVksfj;y f>Yyh 

 (1) nks (2) rhu 

 (3) pkj (4) ik¡p  

173. flfYo;l rjy ufydk tksM+rh gS 

 (1) efLr"d ds izFke vkSj nwljs osaVªhdy dks  

 (2) efLr"d ds nwljs vkSj rhljs osaVªhdy dks 

 (3) efLr"d ds rhljs vkSj pkSFks osaVªhdy dks 

 (4) vkWIVkslhy dks esVklhy ls 

174. raf=dk{k }kjk vkosx pkyu dk vkjs[kh; fu:i.k 

fuEufyf[kr gS 

  

 ;gk¡ 

 (1) fcanq A Na+ vk;uksa dk rhoz varokZg n'kkZrk gS 

 (2) fcanq B K+ vk;uksa dk rhoz varokZg n'kkZrk gS 

 (3) fcanq C lksfM;e ikSVsf'k;e iai }kjk vk;uksa ds 

ifjogu dks iznf'kZr djrk gS tks 2K+ ds izos'k ds 

fy, 3Na+ dks ckgj fudkyrk gS 

 (4) fcanq A Ca+2 vk;uksa ds rhoz varokZg dks n'kkZrk gS 

175. fdlds vfrfjDr fuEu lHkh ysal ds izR;{k laidZ esa 

jgrs gSa\ 

 (1) tyh; nzo 

 (2) dkpkHk nzo 

 (3) i{ekHk dk; ds fuyacu Luk;q 

 (4) vkbfjl vkSj izdk'kxzkgh dksf'kdk,¡ 
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176. Meissner’s corpuscle is an example of  

 (1) Mechanoreceptor (2) Rheoreceptors 

 (3) Gustato-receptors (4) Olfactory-receptors 

177. Spinal nerves may be included in all of the following 

except 

 (1) ANS 

 (2) PNS 

 (3) Visceral nervous system 

 (4) Central nervous system 

178. Which of the following structure relay sensory as 

well as motor impulses between forebrain and 

midbrain? 

 (1) Thalamus (2) Iter 

 (3) Crura cerebri (4) Pons 

179. Choose the correct statement w.r.t. CNS 

 (1) Forebrain contains centres which control 

vomiting and gastric acid secretion 

 (2) Midbrain contains pneumotaxic centre  

 (3) Hindbrain contains respiratory rhythm centre 

 (4) In spinal cord, grey matter surrounds the white 

matter 

180. In the human eye, macula lutea is present 

 (1) Below the blind spot 

 (2) Lateral to the blind spot 

 (3) Inside the choroid 

 (4) Inside the fovea centralis 

176. ekblulZ df.kdk fdldk ,d mnkgj.k gS\ 

 (1) ;kaf=dxzkgh (2) /kkjkxzkgh 

 (3) jl laosnh xzkgh (4) ?kzk.k xzkgh 

177. es# raf=dk,a fdlds vfrfjDr vU; lHkh esa lfEefyr 

gks ldrh gaS\ 

 (1) ANS 

 (2) PNS 

 (3) varjax raf=dk ra= 

 (4) dsUnzh; raf=dk ra= 

178. fuEufyf[kr esa ls dkSulh lajpuk vxzefLr"d vkSj 

eè;efLr"d ds chp laosnh vkSj izsjd vkosx izlkfjr 

djrh gSa\ 

 (1) Fksysel (2) vkbVj 

 (3) Øwjk lsjsczh (4) iksal 

179. CNS ds lanHkZ esa lgh dFku dk p;u dhft,A 

 (1) vxzefLr"d esa dsUnz gksrs gSa tks oeu vkSj tBjh; 

vEy L=o.k dks fu;af=r djrs gSa 

 (2) eè;efLr"d esa 'okl izHkkoh dsUnz gksrk gS 

 (3) i'pefLr"d esa 'olu y; dsUnz gksrk gS 

 (4) es#jTtq esa 'osr nzO; /kwlj nzO; ls f?kjk jgrk gS 

180. ekuo us= esa eSD;wyk Y;wfV;k mifLFkr gksrk gS 

 (1) va/kfcanq ls uhps 

 (2) va/kfcanq ds ik'oZ esa 

 (3) dksjkWbM ds Hkhrj 

 (4) Qksfo;k lsUVªsfyl ds Hkhrj 

 
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3. mÙkj (2) 

 ,d vkos'k ds dkj.k cy 0
2

kqq

R
  
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4. Answer (1) 
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5. Answer (3) 

 E = 3.6 × 103 N/C 

 
2

kq
E

r
  

 
2 3 2

9

3.6 10 (0.4)

9 10

Er
q

k

 
 


 

 q = 64 × 10–9 C 

6. Answer (2) 

 Electric field strength of crowded field lines is 

greater. 

7. Answer (3) 

 1 23 3

2
,

kp kp
E E

r r
    

  1 2 0E E   (fields antiparallel) 

8. Answer (4) 

 Electric field on axis of ring. 

 03
2 2 2

and

( )

kqx
E F q E

R x

 


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
  

 

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R

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9. Answer (3) 

 3[(1 1) (4 1) ( 3 0)] 10E A            

    = (1 – 4) × 10+3 = –3 × 103 N m2 C–1 

4. mÙkj (1) 
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5. mÙkj (3) 

 E = 3.6 × 103 N/C 

 
2

kq
E

r
  

 
2 3 2

9

3.6 10 (0.4)

9 10

Er
q

k

 
 


 

 q = 64 × 10–9 C 

6. mÙkj (2) 

 l?ku {ks= js[kkvksa dk fo|qr {ks= lkeF;Z vf/kdre gSA  

7. mÙkj (3) 

 1 23 3

2
,

kp kp
E E

r r
    

  1 2 0E E   (izfrlekUrj {ks=) 

8. mÙkj (4) 

 oy; ds v{k ij fo|qr {ks= 

 03
2 2 2( )
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E F q E
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

rFkk  
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9. mÙkj (3) 

 3[(1 1) (4 1) ( 3 0)] 10E A            

    = (1 – 4) × 10+3 = –3 × 103 N m2 C–1 



(4) 

10. Answer (2) 

  

 P1 cancels P2, net is P3 

 3 ( )P P qa i qai      

11. Answer (4) 

  = PEsin  max  sin = 1 

          = 90° 

12. Answer (3) 

 By symmetry 8 cubes are required to enclose 

charge. 

 
0

8 c
q

 


 

 
12
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13. Answer (2) 

 
9 6

2 2

9 10 12 10
cos cos0

(4)

kp
V

r

  
      

    3108
10 V

16
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14. Answer (2) 

 
9 12
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kq q
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   

    
29 4 10
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 
   = 1.8 J 

15. Answer (1) 
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2
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   
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16. Answer (4) 

 
dV

E
dr


  

10. mÙkj (2) 

  

 P1, P2 dks fujLr dj nsrk gS] usV P3 gS 

 3 ( )P P qa i qai      

11. mÙkj (4) 

  = PEsin  max  sin = 1 

          = 90° 

12. mÙkj (3) 

 leferh ls] vkos'k dks ifjc) djus ds fy, 8 ?kuksa dh 

vko';drk gksrh gSA  
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13. mÙkj (2) 

 
9 6

2 2

9 10 12 10
cos cos0

(4)

kp
V

r

  
      

    3108
10 V

16
   

14. mÙkj (2) 
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   
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29 4 10

10
2

 
   = 1.8 J 

15. mÙkj (1) 
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16. mÙkj (4) 

 
dV

E
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
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17. Answer (3) 

 Potential difference = area under E – x graph 

 
1

2 (10) (10)(5 2) 10 30 40 V
2

         

18. Answer (4) 

 2

2

5 0
5 10 V/m 500 V/m

1 10

V
E

X 

 
    
 

 and 

directed along which potential falls at maximum rate 

(negative x-axis). 

19. Answer (1) 

 Redrawn circuit is 

  

 Potential is equal distributed. 

 So potential across 6 F is 50 V. 

20. Answer (2) 

 In series equivalent capacitance. 

  

 eq
4

C
C   and maximum potential difference 

= V + V + V + V = 4V  

21. Answer (2) 

 W = U2 – U1 
1 2 1 2

2 1

kq q kq q

r r
   

 
2 2

2 20 15 25 cmr     

 9 12 100 100
9 10 50 2.5 10

25 20

  
       

 

 = – 1125 × 10–3 = – 1.12 J 

17. mÙkj (3) 

 foHkokUrj = E – x vkjs[k }kjk ifjc) {ks=Qy 

 
1

2 (10) (10)(5 2) 10 30 40 V
2

         

18. mÙkj (4) 

 2

2

5 0
5 10 V/m 500 V/m

1 10

V
E

X 

 
    
 

 rFkk 

funsZf'kr gS] ftlds vuqfn'k foHko vf/kdre nj ls 

?kVrk gS (_.kkRed x-v{k) A 

19. mÙkj (1) 

 iqu% fufeZr ifjiFk gS  

  

 foHko leku :i ls forfjr gSa  

 blfy, 6 F ds fljksa ij foHko 50 V gSA  

20. mÙkj (2) 

 Js.kh esa rqY; /kkfjrk  

  

 eq
4

C
C   rFkk vf/kdre foHkokUrj  

= V + V + V + V = 4V  

21. mÙkj (2) 

 W = U2 – U1 
1 2 1 2

2 1

kq q kq q

r r
   
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2 20 15 25 cmr     

 9 12 100 100
9 10 50 2.5 10

25 20

  
       

 

 = – 1125 × 10–3 = – 1.12 J 
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22. Answer (2) 

  

 620 10 10
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q q 
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 6 1
10 10

2
q

 
    

 

 q = 20 × 10–6 C 

23. Answer (2) 

 Total KE = total potential energy (Mechanical energy 

conservation) 

 21 .
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2 1

ke e
mv    

 
2ke k

v e
m m

    

24. Answer (2) 
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2
  E C V  

    
6 3 21
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      

25. Answer (1) 

 1 1 2 2

1 2
C

C V C V
V

C C





 

 
100 1 0

2 1
CV

 



 

 
100

3
CV   

 Q = CV 

26. Answer (3) 

 KE = W 
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           = 0.5 mm 

22. mÙkj (2) 
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 
    

 

 q = 20 × 10–6 C 

23. mÙkj (2) 

 dqy xfrt ÅtkZ = dqy fLFkfrt ÅtkZ (;kaf=d ÅtkZ 

laj{k.k) 
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ke e
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24. mÙkj (2) 
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25. mÙkj (1) 
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 Q = CV 

26. mÙkj (3) 

 KE = W 
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27. Answer (2) 

 H = difference in energy stored, inner charge flows 

to outer. 

 
2 2 2

1 2 0 1 2

1 1

2 2 8

q q q
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C C r r

 
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      = 9 J 

28. Answer (2)  

 E
02 r


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 net
0 0

2
2 (mid point)

2

 
  

 
E E
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29. Answer (1) 

 w = q × V = + 105 × 1.6 × 10–19 × [8 – (–7)] 

= 24 × 10–14 J = 2.4 × 10–13 J 

30. Answer (1) 

 3 34 4
1000

3 3
R r     

 R = 10 r 

 Q = 1000 q 
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31. Answer (2) 

  

 2
1
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 
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V  

 2
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V  

 W = q[V2 – V1] 
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q
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27. mÙkj (2) 

 H = laxzfgr ÅtkZ esa vUrj] vkUrfjd vkos'k ckgj dh 

vksj izokfgr gksrk gSA  
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      = 9 J 

28. mÙkj (2)  

 E
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
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E E
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 
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29. mÙkj (1) 

 w = q × V = + 105 × 1.6 × 10–19 × [8 – (–7)] 

= 24 × 10–14 J = 2.4 × 10–13 J 

30. mÙkj (1) 

 3 34 4
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3 3
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 R = 10 r 

 Q = 1000 q 
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31. mÙkj (2) 
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 W = q[V2 – V1] 
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32. Answer (2) 

  

 Q1 = C × V across C 

 Q2 = 2CV 

 Common potential 

 
Total charge 2

Total capacity 2

CV CV
V

KC C


 


 

 
3 3

( 2) 2

CV V
V

K C K
 

 
 

33. Answer (4) 

  = EScos = (3 × 103) × (10–2) × cos60° 

          = 3 × 103 × 10–2 ×
1

2
 = 15 N m2/C 

34. Answer (3) 

 0A
C

d


  

 0 2 2 6 8 pF 96 pF

2

K A
C K C

d


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35. Answer (2) 

 VA = VB 

 
0 0

   
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 

A Ba b
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a


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36. Answer (1) 

 2(5 10 9) 10 10        
dV d

E x x x
dx dx

 

 at x = 1 

 E = –10 –10 = –20 V/m 

37. Answer (4) 

 enclosed

0 0
e

Q q q
  

 
 

      = 0 

32. mÙkj (2) 

  

 C ds fljksa ij Q1 = C × V 

 Q2 = 2CV 

 mHk;fu"B foHko  

 
2

2

CV CV
V

KC C


 



dyq  vkos'k

dqy èkkfjrk
 

 
3 3

( 2) 2

CV V
V

K C K
 

 
 

33. mÙkj (4) 

  = EScos = (3 × 103) × (10–2) × cos60° 

          = 3 × 103 × 10–2 ×
1

2
 = 15 N m2/C 

34. mÙkj (3) 

 0A
C

d


  

 0 2 2 6 8 pF 96 pF

2

K A
C K C

d


         

35. mÙkj (2) 

 VA = VB 

 
0 0

   


 

A Ba b
 

 A

B

b

a





 

36. mÙkj (1) 

 2(5 10 9) 10 10        
dV d

E x x x
dx dx

 

 x = 1 ij 

 E = –10 –10 = –20 V/m 

37. mÙkj (4) 

 
0 0

e

Q q q
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 

ifjc)  

      = 0 
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38. Answer (3) 

 
1 1 1 1

3 9 18sC
    

  Cs = 2 F 

 Cp = 3 + 9 + 18 = 30 F 

 
30

15
2

p

s

C

C
   

39. Answer (4) 

 Charge remains same, capacity increases 3 times 

 New potential 
3 3

 
q V

C
 and new electric field 

3

E
  

40. Answer (1) 
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3

1000
2 10 1N

2 10




      



V
F qE q

d
 

41. Answer (3) 

 Capacity of solid and hollow sphere are same. 

42. Answer (1) 

 Force is not proportional to displacement but is 

directed towards equilibrium. 

43. Answer (3) 

 |p| = |F| × t = qE0t 

44. Answer (2) 

 
4 4

120 48 C
4 6 6 4

Aq q      
 

 

 q = (80 – 48) = 32 C. This goes to B. 

45. Answer (2) 

 W = Wf – Wi = 3U – U = 2U 

38. mÙkj (3) 

 
1 1 1 1

3 9 18sC
    

  Cs = 2 F 

 Cp = 3 + 9 + 18 = 30 F 

 
30
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C
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39. mÙkj (4) 

 vkos'k leku jgrk gS] /kkfjrk 3 xqus rd c<+ tkrh gS  

 uohu foHko 
3 3

 
q V

C
 rFkk uohu fo|qr {ks= 

3

E
  

40. mÙkj (1) 
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

V
F qE q
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41. mÙkj (3) 

 Bksl rFkk [kks[kys xksys dh /kkfjrk leku gSA  

42. mÙkj (1) 

 cy] foLFkkiu ds lekuqikrh ugha gS] ysfdu ;g lkE; 

dh vksj vxzlj gSA   

43. mÙkj (3) 

 |p| = |F| × t = qE0t 

44. mÙkj (2) 

 
4 4

120 48 C
4 6 6 4

Aq q      
 

 

 q = (80 – 48) = 32 C ;g B rd tkrk gSA  

45. mÙkj (2) 

 W = Wf – Wi = 3U – U = 2U 

CHEMISTRY 

46. Answer (2) 

  

47. Answer (1) 

 In 
ΘRC C , carbon atom carrying negative charge 

is sp hybrid (50% s character). More the s 

character, more will be the stability of anion. 

48. Answer (2) 

 6th member of alkane homologous series is C6H14 

 Structural isomers of C6H14 are  

46. mÙkj (2) 

  

47. mÙkj (1) 

 ΘRC C  esa _.kkos'k okyk dkcZu ijek.kq sp ladfjr  

(50% s y{k.k) gSA s y{k.k vf/kd gksus ij _.kk;u dk 

LFkkf;Ro vf/kd gksxkA  

48. mÙkj (2) 

 ,Ydsu ltkrh; Js.kh dk 6th lnL; C6H14 gSA C6H14 ds 

lajpukRed leko;o fuEu gSa  
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49. Answer (3) 

 The species which does not contain -hydrogen will 

not show hyperconjugation. 

50. Answer (4) 

 Toluene having benzene ring is aromatic (6

  electrons) as well as benzenoid. 

51. Answer (4) 

 

52. Answer (2) 

 CH3COOH + NaOH CH3COONa + H2O 

 2CH3COONa(aq) + 2H2O   

 CH3 – CH3 + 2CO2 +  2NaOH + H2 

 
3CH COOHn  = 0.1 × 100 = 10 m moles  

   = 10 × 10–3 moles 

 
3CH COONan = 10 × 10–3 moles 

 2 moles of CH3COONa produce  

  = 22400 ml (1mol) of ethane 

 10 × 10–3 moles of CH3COONa = 112 ml of ethane  

  

  

  

  

  

49. mÙkj (3) 

 Lih'kht ftlesa -gkbMªkstu ugha gksrk og vfrla;qXeu 

ugha n'kkZ,xhA  

50. mÙkj (4) 

 VkWywbZu  esa csUthu oy; gksrk gS] ;g ,jksesfVd 

(6  bysDVªkWu) o csUtsukWbM gSA  

51. mÙkj (4) 

 

52. mÙkj (2) 

 CH3COOH + NaOH CH3COONa + H2O 

 2CH3COONa(aq) + 2H2O   

 CH3 – CH3 + 2CO2 +  2NaOH + H2 

 
3CH COOHn  = 0.1 × 100 = 10 fefy eksy 

   = 10 × 10–3 eksy 

 
3CH COONan = 10 × 10–3 eksy 

 2 eksy CH3COONa ls izkIr gksxh   

  = 22400 ml (1 eksy) ,Fksu  

 10 × 10–3 eksy CH3COONa = 112 ml ,Fksu 
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53. Answer (1) 

 The given reaction is Friedel Crafts alkylation 

reaction. It is electrophilic substitution reaction 

54. Answer (3) 

  

55. Answer (2) 

  is resonance stabilised  is 

 stable due to hyperconjugation. 

56. Answer (3) 

  

 More branched carbon gets lower number  

 2– Ethyl–1,1–dimethylcyclohexane. 

57. Answer (1) 

 and 

 are chain isomers. 

58. Answer (3) 

 Compound  does not follow Huckel’s 

(4n + 2) rule. It is not an aromatic compound. 

59. Answer (3) 

  Carbonyl compounds containing -hydrogen 

will show keto-enol tautomerism. 

  Vinylic alcohols also shows keto-enol 

tautomerism. 

   

60. Answer (4) 

 Electromeric effect occurs in presence of reagent 

hence it is temporary effect. 

53. mÙkj (1) 

 nh x;h vfHkfØ;k ÝhMsy Øk¶Vl ,fYdyhdj.k vfHkfØ;k 

gSA ;g bysDVªkWuLusgh izfrLFkkiu vfHkfØ;k gSA  

54. mÙkj (3) 

  

55. mÙkj (2) 

  vuquknh LFkk;h gS]  vfrla;qXeu 

ds dkj.k LFkk;h gSA  

56. mÙkj (3) 

  

 vf/kd 'kkf[kr dkcZu dks de vadu fn;k tkrk gSA  

 2– ,fFky–1,1– MkbesfFkylkbDyksgsDlsu  

57. mÙkj (1) 

  rFkk

  Jà[kyk leko;o gSaA  

58. mÙkj (3) 

 ;kSfxd   gdy fu;e (4n + 2) fu;e dk 

ikyu ugha djrkA ;g ,jksesfVd ;kSfxd ugha gSA  

59. mÙkj (3) 

  -gkbMªkstu ;qDr dkcksZfuy ;kSfxd dhVks&bukWy 

pyko;ork n'kkZ;saxsA  

  okbfuy ,YdksgkWy Hkh dhVks&bukWy pyko;ork 

n'kkZrk gSA  

   

60. mÙkj (4) 

 bysDVªkWejh izHkko vfHkdeZd dh mifLFkfr esa gksrk gSA 

vr% ;g vLFkk;h izHkko gSA    
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61. Answer (4) 

 Decolourisation of Baeyer’s reagent (Cold dilute 

KMnO4) is the test of unsaturation (double and triple 

bonds). 

62. Answer (1) 

 Kjeldahl method for estimation of nitrogen is not 

applicable to nitro compounds. 

63. Answer (1) 

 % of bromine = 
At. mass of Br

Molecular mass of AgBr
×

 
AgBr

organic compound

W 100
×

W 1
 

 % of Br = 
80 140 100

188 250 1
   

 = 23.82% 

   24 % 

64. Answer (4) 

 AlCl3 is electron deficient in nature so will act as 

 electrophile. 

65. Answer (4) 

 Hyperconjugation effect is maximum for toluene 

which will activate benzene ring to maximum extent. 

66. Answer (3) 

 Due to intramolecular H–bonding  

  

 is most stable. 

67. Answer (3) 

 Due to sunlight, free radical mechanism occurs. 

 is most stable free radical leading to form 

 as major product. 

68. Answer (3) 

  

69. Answer (2) 

  

 Reductive ozonolysis of benzene 

61. mÙkj (4) 

 cs;j vfHkdeZd (B.Mk ruq KMnO4) dk fojathdj.k 

vlar`Irrk (f}ca/k o f=ca/k) dk ijh{k.k gSA 

62. mÙkj (1) 

 ukbVªkstu ds vkdyu dh dSYMkWy fof/k ukbVªks ;kSfxdksa 

ds fy, ykxw ugha gksrhA  

63. mÙkj (1) 

 % czksehu = 
  

 

dk ijek.k q Hkkj

dk vk.kfod nzO;eku

Br

AgBr
×

 

dkcZfud ;kSfxd

AgBrW 100
×

W 1
 

 % Br = 
80 140 100

188 250 1
   

 = 23.82% 

   24 % 

64. mÙkj (4) 

 AlCl3 bysDVªkWu U;wu izÑfr dk gS vr% bysDVªkWuLusgh ds 

:i esa dk;Z djsxkA  

65. mÙkj (4) 

 vfrla;qXeu izHkko VkWywbZu ds fy, vf/kdre gksrk gS 

tks csUthu oy; dks vf/kdre ifjek.k rd lfØ; 

djsxkA  

66. mÙkj (3) 

 vUr%v.kqd H–ca/ku ds dkj.k  

  

 lokZf/kd LFkk;h gSA 

67. mÙkj (3) 

 lw;Z ds izdk'k ds dkj.k eqDr ewyd fØ;kfof/k gksrh 

 gSA  

 lokZf/kd LFkk;h eqDr ewyd gS tks eq[; 

mRikn ds :i esa  cukrk gSA  

68. mÙkj (3) 

  

69. mÙkj (2) 

  

 csUthu dk vipk;d vkstksuhvi?kVu  
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70. Answer (4) 

 Decreasing order of priority of the functional groups 

is 

 –SO3H > COCl > – CONH2 > –CN 

71. Answer (4) 

 On decarboxylation CH3CH2CH2COOH will  produce 

CH3CH2CH3 and  will produce 

CH3CH2CH3 

72. Answer (1) 

 Zn
3 2 4

H
CH Cl H CH HCl


     

73. Answer (3) 

  

 is an anti-aromatic species and is unstable 

74. Answer (2) 

  

75. Answer (4) 

  

 

  

  

76. Answer (3) 

 Distillation is used to separated liquid having 

sufficient difference in their boiling points. 

77. Answer (2) 

  Phosphorous present in an organic compound 

can be detected by Lassaigne test. 

  Silver chloride dissolved in aqueous ammonia 

solution. 

70. mÙkj (4) 

 fØ;kRed lewgksa dh ojh;rk dk ?kVrk Øe fuEu gSa  

 –SO3H > COCl > – CONH2 > –CN 

71. mÙkj (4) 

 fodkcksZfDlyhdj.k ij CH3CH2CH2COOH ls 

CH3CH2CH3 izkIr gksxk rFkk  ls  

CH3CH2CH3 izkIr gksxkA 

72. mÙkj (1) 

 Zn
3 2 4

H
CH Cl H CH HCl


     

73. mÙkj (3) 

  

 ,d izfr&,jksesfVd Lih'kht ,oa vLFkk;h gSA  

74. mÙkj (2) 

  

75. mÙkj (4) 

  

 

  

  

76. mÙkj (3) 

 vklou dk mi;ksx DoFkukad esa i;kZIr varj okys nzoksa 

dks i`Fkd djus esa fd;k tkrk gSA  

77. mÙkj (2) 

  dkcZfud ;kSfxd esa mifLFkr QkWLQksjl dh igpku 

ySlkus ijh{k.k }kjk dh tk ldrh gSA  

  flYoj DyksjkbM tyh; veksfu;k foy;u esa ?kqy 

tkrk gSA  
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78. Answer (2) 

  

79. Answer (3) 

 

80. Answer (3) 

 Cu/523 K/100 atm
4 2 32CH O 2CH OH   

81. Answer (2) 

  

82. Answer (3) 

  is an aromatic species having 6 electrons 

 in conjugation. 

83. Answer (4) 

 

84. Answer (2) 

  

As terminal alkynes have acidic hydrogens 

85. Answer (4) 

  

78. mÙkj (2) 

  

79. mÙkj (3) 

 

80. mÙkj (3) 

 
Cu/523 K/100 atm

4 2 32CH O 2CH OH   

81. mÙkj (2) 

  

82. mÙkj (3) 

  ,d ,jksesfVd Lih'kht gS ftlds la;qXeu esa 6

 bysDVªkWu gksrs gSaA  

83. mÙkj (4) 

 

84. mÙkj (2) 

  

pw¡fd vUrLFk ,Ydkbu esa vEyh; gkbMªkstu gksrs gSaA  

85. mÙkj (4) 
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86. Answer (2) 

 Chlorofluorocarbons produce chlorine free  radicals 

 which deplete ozone layer. 

87. Answer (1) 

 Classical smog is reducing in nature. 

88. Answer (2) 

 Green chemistry is focused on methods that 

 minimise the generation and use of hazardous 

 waste. 

89. Answer (2) 

 Tolerable limit of nitrates in drinking water is 50 

 ppm. 

90. Answer (3) 

 –NHCOCH3 is ortho/para directing group towards 

aromatic electrophilic substitution reaction. 

86. mÙkj (2) 

 Dyksjks¶yqvksjksdkcZu Dyksjhu eqDr ewyd nsrk gS  tks 

vkstksu ijr dk {k; djrk gSA  

87. mÙkj (1) 

 lkekU; /kwe&dksgjk vipk;d izÑfr dk gksrk gSA 

88. mÙkj (2) 

 gfjr jlk;u mu fof/k;ksa ij dsfUnzr gS tks gkfudkjd 

vif'k"V ds mRiknu o mi;ksx dks de djrh gSA  

89. mÙkj (2) 

 is; ty esa ukbVªsV dh vf/kdre lhek 50 ppm gksrh gSA 

90. mÙkj (3) 

 –NHCOCH3 ,jksesfVd bysDVªkWuLusgh izfrLFkkiu 

vfHkfØ;k ds izfr vkWFkksZ@isjk nSf'kd gksrk gSA 

BOTANY 

91. Answer (3) 

 Respiratory substrates are oxidised in multiple 

steps to release all the energy contained in them. 

92. Answer (4) 

 Both glucose and fructose readily enter the 

glycolysis process. 

93. Answer (3) 

 If glycolysis begins with two glucose molecules, 4 

PGAL will be produced since two redox equivalents 

are removed from 1 PGAL, so from 4 PGAL,  

8 redox equivalents will be removed. 

94. Answer (2) 

 ATP is directly synthesised during substrate level 

phosphorylation reaction. 

95. Answer (2) 

 In every organism, glycolysis occurs in cytoplasm. 

96. Answer (4) 

 Acetyl CoA is formed in link reaction. 

97. Answer (2) 

 Only alcoholic fermentation involves decarboxylase 

activity and releases CO2. 

98. Answer (1) 

 Link reaction involves oxidative decarboxylation and 

dehydrogenation reaction. 

99. Answer (3) 

 OAA condenses with acetyl group and H2O to form 

citric acid. 

91. mÙkj (3) 

 “oluh lClVªsV esa fufgr laiw.kZ ÅtkZ dks eqDr djus ds 

fy, mudk dbZ pj.kksa esa vkWDlhdj.k fd;k tkrk gSA 

92. mÙkj (4) 

 Xywdkst o ÝDVksl nksuksa ljyrk ls Xykbdksfyfll 

izfØ;k esa izos”k djrs gSaA 

93. mÙkj (3) 

 ;fn Xykbdksfyfll dh izfØ;k nks Xywdksl v.kqvksa ls 

izkjaHk gksrh gS rc 4 PGAL fufeZr gksxsa pw¡fd 1 PGAL ls 

nks jsMkWDl lerqY; fu’dkflr gksrs gSaA blfy,  

4 PGAL ls 8 jsMkWDl lerqY; fu’dkflr gksaxsA 

94. mÙkj (2) 

 lClVªsV Lrjh; QkWLQksfjyhdj.k vfHkfØ;k ds nkSjku 

ATP lh/ks gh la”ysf’kr gksrk gSA 

95. mÙkj (2) 

 izR;sd tho esa Xykbdksfyfll] dksf”kdknzO; esa gksrk gSA 

96. mÙkj (4) 

 ,lhfVy CoA, la;ksth izfØ;k esa curk gSA 

97. mÙkj (2) 

 dsoy ,YdksgkWyh fd.ou esa fMdkcksZfDlyst fØ;k 

“kkfey gksrh gS ,oa CO2 dk mRltZu gksrk gSA 

98. mÙkj (1) 

 la;ksth vfHkfØ;k esa vkWDlhdkjh fodkcksZfDlyhdj.k 

rFkk fogkbMªkstuhdj.k vfHkfØ;k “kkfey gksrh gSA 

99. mÙkj (3) 

 OAA, ,lhfVy lewg rFkk H2O ds lkFk la?kfur gksdj 

flfVªd vEy dk fuekZ.k djrk gSA 
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100. Answer (3) 

 In Krebs cycle CO2 evolve at two steps only. 

101. Answer (4) 

 FADH2 is produced during conversion of succinic 

acid to fumaric acid. 

102. Answer (2) 

 Carriers of ETS are located in inner mitochondrial 

membrane. 

103. Answer (2) 

 Glycerol enter respiratory pathway after getting 

converted into glyceraldehyde 3 phosphate. 

104. Answer (3) 

 From 1 glucose molecule 10 NADH + H+ and 2 

FADH2 will be synthesised. 

 So via ETS –  

 10 NADH + H+   10 × 3 = 30 ATPs 

 2 FADH2   2 × 2 = 4 ATPs 

       34 ATPs 

105. Answer (4) 

 RQ of organic acid is more than 1 because they 

have more O than C and H. 

106. Answer (1) 

 Plant growth is unique as they have meristems at 

certain locations that can divide throughout the life. 

107. Answer (4) 

 Increase in protoplasm of cell is used to measure 

growth of a cell. 

108. Answer (3) 

 Tracheary elements are formed by differentiation or 

redifferentiation. 

109. Answer (4) 

 A tree showing seasonal activity does not show a 

typical S-shaped curve. Gravity determines 

direction of movement and orientation of plant parts. 

110. Answer (2) 

 Cytokinin is adenine derivative. It overcomes apical 

dominance. 

111. Answer (4) 

 ABA is used as antitranspirant. Ethylene is used in 

fruit ripening and thinning of fruit. 

112. Answer (4) 

 Ethylene promotes femaleness in cucumber. 

100. mÙkj (3) 

 ØsCl pØ esa CO2 dsoy nks inksa ij mRlftZr gksrh gSA 

101. mÙkj (4) 

 lfDlfud vEy ds ¶;wesfjd vEy esa :ikarfjr gksrs 

le; FADH2 fufeZr gksrk gSA 

102. mÙkj (2) 

 ETS ds okgd] ekbVksdkWf.Mª;k dh vkarfjd f>Yyh ij 

fLFkr gksrs gSaA 

103. mÙkj (2) 

 fXyljkWy] fXyljsfYMgkbM 3 QkWLQsV esa ifjofrZr gksus 

ds ckn “oluh iFkØe esa izos”k djrk gSA 

104. mÙkj (3) 

 Xywdkst ds 1 v.kq ls 10 NADH + H+ rFkk 2 FADH2 

la”ysf’kr gksaxsA 

 blfy, ETS ds }kjk –  

 10 NADH + H+   10 × 3 = 30 ATPs 

 2 FADH2   2 × 2 = 4 ATPs 

      34 ATPs 

105. mÙkj (4) 

 dkcZfud vEy dk RQ 1 ls vf/kd gksrk gS D;ksafd 

blesa C o H dh rqyuk esa O vf/kd ek=k esa gksrh gSA 

106. mÙkj (1) 

 ikni o`f) fo”ks’k gksrh gS D;ksafd buesa fuf”pr LFkkuksa 

ij foHkT;ksÙkd gksrk gS tks thou Hkj foHkktu dj 

ldrk gSA 

107. mÙkj (4) 

 ,d dksf”kdk dh o`f) dks ekius ds fy, dksf”kdk ds 

thonzO; esa gksus okyh c<+r dk mi;ksx fd;k tkrk gSA 

108. mÙkj (3) 

 okfgfudk rRo foHksnu o iqfoZHksnu }kjk fufeZr gksrs gSaA 

109. mÙkj (4) 

 ekSleh fØ;k n”kkZus okyk ,d ò{k] ,d iz:ih  

S-vkdkj dk oØ ugha n”kkZrkA xq:Rokd’kZ.k xfr dh 

fn”kk rFkk ikni Hkkxksa ds foU;kl dks fu/kkZfjr djrk gSA 

110. mÙkj (2) 

 lkbVksdkbfuu ,Msuhu O;qRiUu gSA ;g f”k[kkxz 

iz/kkU;rk dks nwj djrk gSA 

111. mÙkj (4) 

 ABA dk mi;ksx izfrok’iksRlthZ ds :i esa fd;k tkrk 

gSA ,Fkhfyu dk mi;ksx Qy iDou rFkk Qy ds 

foyxu esa fd;k tkrk gSA 

112. mÙkj (4) 

 ,Fkhfyu] [khjs esa eknk y{k.kksa dks izksRlkfgr djrk gSA 
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113. Answer (2) 

 Gibberellins promotes seed germination while ABA 

inhibits. 

114. Answer (2) 

 Cytokinine increases shelf life of cut shoot, flowers 

and vegetable. 

115. Answer (3) 

 Both ABA and ethylene promotes abscission. Auxin 

prevents abscission of younger plant parts. 

116. Answer (2) 

 Ethylene 

117. Answer (4) 

 Castor shows epigeal seed germination, so 

cotyledons come out of soil. DNP do not have any 

correlation between duration of light exposure and 

flowering but they do require light. 

118. Answer (1) 

 Application of minute quantity of ABA reduces 

transpiration and so the requirement of irrigation. 

119. Answer (4) 

 Gibberellin induces seed germination. 

120. Answer (3) 

 Soyabean is SDP while others are LDP. 

121. Answer (1) 

 Leaves are site of perception of light/dark in plants 

that migrate to shoot apices and modify them to 

flowering apices. 

122. Answer (3) 

 Vernalisation is not necessary in spring wheat. 

123. Answer (1) 

 Gibberellin induces bolting in rosette plants like 

beet, cabbage etc. 

124. Answer (3) 

 Both photoperiodism and vernalisation are 

necessary for flowering. Most of the winter flowering 

plants are SDP. 

125. Answer (4) 

 Cytokinin play important role in tea plantation by 

inducing bush formation. 

113. mÙkj (2) 

 ftCcjsfyu] cht vadqj.k dks izksRlkfgr djrk gS tcfd 

ABA bls ckf/kr djrk gSA 

114. mÙkj (2) 

 lkbVksdkbfuu dVh gqbZ izjksg] iq’iksa rFkk lCth dh 

fu/kkuh vk;q dks c<+krk gSA 

115. mÙkj (3) 

 ABA rFkk ,Fkhfyu nksuksa foyxu dks izksRlkfgr djrs gSaA 

vkWfDlu] r:.k ikni Hkkxksa ds foyxu dks jksdrk gSA 

116. mÙkj (2) 

 ,Fkhfyu 

117. mÙkj (4) 

 vjaMh HkE;wifjd cht vadqj.k n”kkZrk gSA blfy, 

chti= Hkwfe ls ckgj vk tkrs gSaA DNP dk izdk”k esa 

vuko`r gksus dh vof/k rFkk iq’iu izsfjr djus ls dksbZ 

laca/k ugha gksrk gS ijarq bUgsa izdk”k dh vko”;drk 

gksrh gSA 

118. mÙkj (1) 

 ABA dh FkksM+h lh ek=k ds iz;ksx ls ok’iksRltZu de 

gks tkrk gS vkSj blh ds lkFk&lkFk flapkbZ dh 

vko”;drk HkhA 

119. mÙkj (4) 

 ftCcjsfyu] cht vadqj.k dks izsfjr djrk gSA 

120. mÙkj (3) 

 lks;kchu SDP gS tcfd “ks’k lHkh ikni LDP gSaA 

121. mÙkj (1) 

 ikniksa esa ifÙk;k¡ izdk”k@va/kdkj dky dk vuqHko 

djrh gS ,oa gkeksZuy inkFkZ izjksg dfydk esa tkrk gS 

rFkk mUgsa iq’iu dfydk esa cny nsrk gSA 

122. mÙkj (3) 

 clar _rq esa mxkus okys xsgw¡ esa olarhdj.k vko”;d 

ugha gksrkA 

123. mÙkj (1) 

 ftCcjsfyu] pqdanj] iÙkk xksHkh ,oa vU; jkstsVh LoHkko 

okys iknikas esa mRLQqVu dks c<+k nsrk gSA 

124. mÙkj (3) 

 nhfIrdky rFkk olarhdj.k] nksuksa iq’iu ds fy, 

vko”;d gksrs gSaA vf/kdka”k tkMs+ ds iq’ih; ikni SDP 

gksrs gSaA 

125. mÙkj (4) 

 lkbVksdkbfuu] {kqi fuekZ.k dks izsfjr djds pk; ds 

ckxkukas esa egRoiw.kZ Hkwfedk fuHkkrk gSA 
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126. Answer (2) 

 Chlamydomonas reproduces by zoospores that are 

motile flagellated structures. 

127. Answer (4) 

 Life span is not correlated with size and complexity 

of organisms. 

128. Answer (2) 

 The Bryophyllum reproduces by leaf bud. 

129. Answer (3) 

 Wheat being annual lacks interflowering period. 

130. Answer (3) 

 Coconut is monoecious and date palm is dioecious. 

131. Answer (4) 

 Cladophora produces isogametes. 

132. Answer (3) 

 Female sex organ of Chara is called oogonium. 

133. Answer (2) 

 Zygote ensures continuity of species between one 

generation to next. 

134. Answer (4) 

 Embryo formation is a post fertilisation event. 

135. Answer (2)  

 Ovary wall develops into pericarp. Ovule wall forms 

seed coat. 

126. mÙkj (2) 

 DySek;Mkseksukl] pychtk.kqvksa }kjk tuu djrk gS tks 

fd py] d”kkHkhe; lajpuk,¡ gksrh gSaA 

127. mÙkj (4) 

 thoudky tho ds vkdkj o tfVyrk ls lacaf/kr ugha 

gksrkA 

128. mÙkj (2) 

 czk;ksQkbye] i.kZ dfydk }kjk tuu djrk gSA 

129. mÙkj (3) 

 okf’kZd ikni gksus ds dkj.k xsgw¡ esa varjiq’iu vof/k dk 

vHkko gksrk gSA 

130. mÙkj (3) 

 ukfj;y mHk;fyaxkJ;h gSa ,oa [ktwj ,dfyaxkJ;h gSA 

131. mÙkj (4) 

 DySMksQksjk] le;qXedksa dks fufeZr djrk gSA 

132. mÙkj (3) 

 dkjk ds eknk ySafxd vax dks v.M/kkuh dgrs gSaA 

133. mÙkj (2) 

 ;qXeut ,d ih<+h ls vxyh ih<+h ds chp iztkfr dh 

fujarjrk dks lqfuf”pr djrk gSA 

134. mÙkj (4) 

 Hkzw.k dk fuekZ.k ,d fu’kspuksÙkj ?kVuk gSA 

135. mÙkj (2)  

 v.Mk”k; fHkfÙk] QyfHkfÙk esa ifjof/kZr gksrh gSA chtkaM 

dh fHkfÙk] chtkoj.k dk fuekZ.k djrh gSA 

ZOOLOGY 

136. Answer (2) 

 ANF hormone is secreted from wall of right atrium. 

137. Answer (4) 

 The Na+ – K+ pump transports 3Na+ outwards for 

2K+ into the axon maintaining the polarisation state 

when neuron is in resting state. 

138.  Answer (4) 

 LH hormone acts on Leydig cells and stimulate the 

secretion of androgens.  

139.  Answer (1) 

 Adrenocorticoids act through intracellular receptor. 

140.  Answer (3) 

 Thymosin hormone is secreted from thymus gland. 

141.  Answer (4) 

 Mineralocorticoids mainly control the electrolyte and 

water balance of the body. 

136. mÙkj (2) 

 ANF gkWeksZu nk,a vfyan dh fHkfÙk ls L=kfor gksrk gSA 

137. mÙkj (4) 

 Na+ – K+ iai èkzqo.k voLFkk dks cuk, j[kus gsrq 

raf=dk{k esa 2K+ ds izos'k ds fy, 3Na+ ckgj fudkyrk 

gS tc U;wjkWu fojkekoLFkk esa gksrk gSA 

138.  mÙkj (4) 

 LH gkWeksZu yhfMx dksf'kdkvksa ij dk;Z djrk gS rFkk 

,aMªkstu ds L=o.k dks izsfjr djrk gSA 

139.  mÙkj (1) 

 ,MªhuksdksfVZdkWbM~l vkarjdksf'kdk xzkgh ds ekè;e ls 

dk;Z djrs gSaA 

140.  mÙkj (3) 

 Fkkbeksflu gkWeksZu Fkkbel xzafFk ls L=kfor gksrk gSA 

141.  mÙkj (4) 

 feujyksdksfVZdkWbM~l eq[;r% 'kjhj ds bysDVªksykbV vkSj 

ty larqyu dks fu;af=r djrk gS 
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142.  Answer (3) 

 Four parathyroid glands are present on the back 
side of the thyroid gland. 

143.  Answer (4) 

 Inhibiting hormones of hypothalamus act only on 
adenohypophysis. 

144.  Answer (1) 

 Secretion of progesterone is largely controlled by 
LH. 

145.  Answer (4) 

 Cushing syndrome is characterised by high blood 
volume and high blood pressure. 

146.  Answer (1) 

 Neural organisation of Hydra contains apolar 
neuron 

147.  Answer (2) 

 Enlargement of thyroid gland due to deficiency of 
iodine in our diet results in simple goitre. Graves’ 
disease is exophthalmic goitre 

148.  Answer (4) 

 Kidney secrete hormones like renin and 
erythropoietin. 

149.  Answer (4) 

 Androgenic steroids are secreted from adrenal 
cortex only. 

150.  Answer (3) 

 Insulin and glucagon are antagonistic w.r.t blood 
glucose level in our body. 

151.  Answer (3) 

 Somatostatin and oxytocin both are hydrophilic 
hormones. 

152.  Answer (4) 

 Androgens produce anabolic effect on protein and 
carbohydrate metabolism. 

153.  Answer (3) 

 Gastrin acts on the gastric glands and stimulates 
the secretion of hydrochloric acid and pepsinogen. 

154.  Answer (1) 

 Thyroid hormones are iodothyronines. 

155.  Answer (4) 

 Some hormones are also involved in conduction of 
nerve impulses across synapse. 

156.  Answer (1) 

 Acromegaly is a disorder of hypersecretion of 

pituitary gland. 

157.  Answer (2) 

 Brain stem is present between thalamus and the 

spinal cord. 

142.  mÙkj (3) 

 pkj iSjkFkkW;jkbM xzafFk;k¡ Fkk;jkWbM xzafFk dh i`"B lrg 

ij mifLFkr gksrh gSaA 

143.  mÙkj (4) 

 gkbiksFksysel dk laneudkjh gkeksZUl dsoy 

,MhuksgkbiksQkbfll ij dk;Z djrk gSA 

144.  mÙkj (1) 

 izkstsLVsjkWu dk L=o.k O;kid rkSj ij LH }kjk fu;af=r 

gksrk gSA 

145.  mÙkj (4) 

 dqf'kax flaMªkse mPp jDr vk;ru vkSj mPp jDr nkc 

}kjk vfHky{kf.kr gksrk gSA 

146.  mÙkj (1) 

 gkbMªk ds raf=dh; laxBu esa v/kqzoh; U;wjkWu gksrs gSaA 

147.  mÙkj (2) 

 gekjs vkgkj esa vk;ksMhu dh deh ds dkj.k gksus okyh 

Fkk;jkWbM xzafFk dh o`f) ds ifj.kkeLo:i ljy 

xyx.M gksrk gSA xzsol jksx us=ksRls/kh xyx.M gSA 

148.  mÙkj (4) 

 o`Dd jsfuu vkSj bfjFkzksiksbZfVu tSls gkeksZUl L=kfor 

djrs gSaA 

149.  mÙkj (4) 

 ,aMªkstsfud LVsjkW;M~l dsoy vf/ko`Dd oYdqV ls 

L=kfor gksrs gSaA 

150.  mÙkj (3) 

 gekjs 'kjhj esa jDr Xywdkst Lrj ds lanHkZ esa balqfyu 

rFkk XywdkxkWu fØ;k esa fojks/kh gksrs gSaA 

151.  mÙkj (3) 

 lksesVksLVsfVu vkSj vkWDlhVksflu nksuksa tyLusgh gkeksZUl 

gksrs gSaA 

152.  mÙkj (4) 

 ,aMªkstu izksVhu vkSj dkcksZgkbMªsV mikip; ij mip;h 

izHkko mRiUu djrs gSaA 

153.  mÙkj (3) 

 xSfLVªu tBjh; xzafFk;ksa ij dk;Z djrk gS rFkk 

gkbMªksDyksfjd vEy vkSj isfIlukstu ds L=o.k dks 

izsfjr djrk gSA  

154.  mÙkj (1) 

 Fkk;jkWbM gkeksZUl vk;ksMksFkk;jksfuu gksrs gSaA 

155.  mÙkj (4) 

 dqN gkeksZUl flusIl ds ikj raf=dk vkosxksa ds pkyu esa 

Hkh lfEefyr gksrs gSaA 

156.  mÙkj (1) 

 ,Øksfexsyh ih;w"k xzafFk ds vfrL=o.k dk ,d fodkj gSA 

157.  mÙkj (2) 

 efLr"d LraHk Fksysel vkSj es#jTtq ds chp mifLFkr 

gksrk gSA 
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158.  Answer (4) 

 Corpus callosum connects cerebral hemispheres. 

159.  Answer (4) 

 Calcitonin is a hormone. 

160.  Answer (3) 

 Pancreas and ovary are included in heterocrine 

glands. 

161.  Answer (2) 

 Bowman’s gland are associated with olfactory 

epithelium. 

162.  Answer (1) 

 Pneumotaxic centre is also called switch off centre 

for inspiration. 

163.  Answer (4) 

 Myelinated neurons are present in both CNS and 

PNS. 

164.  Answer (4) 

 Cornea is a avascular structure of eye ball. 

165.  Answer (3) 

 At blind spot, optic nerve leaves the eye ball. 

166.  Answer (1) 

 Effectors are skeletal muscles. 

167.  Answer (2) 

 Blood supply is not present in cornea. 

168.  Answer (2) 

 Secretion of gastric juice is stimulated by 

parasympathetic nervous system. 

169.  Answer (3) 

 Stapes is directly attached to the oval window. 

170.  Answer (4) 

 Unipolar neurons contain only single axon. 

171.  Answer (3) 

  Presence of fluid filled synaptic cleft is 

characteristic of chemical synapse. 

172.  Answer (4) 

 Tectorial membrane is included in cochlear 

apparatus. 

173.  Answer (3) 

 Iter connects diocoel to metacoel. 

174.  Answer (3) 

 Point C represents resting membrane potential. 

175.  Answer (4) 

 Iris and photoreceptor cells are not present in direct 

contact with lens. 

158.  mÙkj (4) 

 dkWiZl dSyksle izefLr"d xksyk)ks± dks tksM+rk gSA 

159.  mÙkj (4) 

 dSfYlVksfuu ,d gkeksZu gSA 

160.  mÙkj (3) 

 vXuk'k; vkSj vaMk'k; gsVsjksØkbu xzafFk;ksa esa lfEefyr 

gksrs gSaA 

161.  mÙkj (2) 

 cksesu xzafFk ?kzk.k midyk ls lacaf/kr gksrh gSA 

162.  mÙkj (1) 

 'oklizHkkoh dsUnz var%'olu ds fy, ^fLop vkWQ* dsUnz 

Hkh dgykrk gSA 

163.  mÙkj (4) 

 vkPNnh U;wjksal CNS vkSj PNS nksuksa esa mifLFkr gksrs 

gSaA 

164.  mÙkj (4) 

 dkWfuZ;k us=xksyd dh ,d vlaoguh; lajpuk gSA 

165.  mÙkj (3) 

 va/k fcanq ij n`d raf=dk,¡ us= xksyd dks NksM+rh gSaA 

166.  mÙkj (1) 

 izHkkjd dadky isf'k;k¡ gksrh gSaA 

167.  mÙkj (2) 

 jDr vkiwfrZ dkfuZ;k esa mifLFkr ugha gksrh gSaA 

168.  mÙkj (2) 

 tBj jl dk L=o.k ijkuqdaih raf=dk ra= }kjk izsfjr 

gksrk gSA 

169.  mÙkj (3) 

 LVsiht izR;{k :i ls vaMkdkj f[kMdh ls tqM+h gksrh 

gSA 

170.  mÙkj (4) 

 ,d/kzqoh; U;wjksal esa dsoy ,d raf=dk{k gksrk gSA 

171.  mÙkj (3) 

 nzo ls Hkjh flusfIVd njkj dh mifLFkfr jklk;fud 

flusIl dk vfHky{k.k gSA 

172.  mÙkj (4) 

 VsDVksfj;y f>Yyh dksfDy;j midj.k esa lfEefyr 

gksrh gSA 

173.  mÙkj (3) 

 vkbVj Mk;kslhy dks esVklhy ls tksM+rh gSA 

174.  mÙkj (3) 

 fcanq C fojke dyk foHko dks iznf'kZr djrk gSA 

175.  mÙkj (4) 

 vkbfjl vkSj izdk'kxzkgh dksf'kdk,¡ ysal ds lkFk izR;{k 

laidZ esa mifLFkr ugha gksrh gSaA 
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176.  Answer (1) 

 Meissner’s corpuscle is an example of 

tangoreceptor. 

177.  Answer (4) 

 CNS includes brain and spinal cord. 

178.  Answer (1) 

 Crura cerebri is a structural constituents of 

midbrain. 

179.  Answer (3) 

 Medulla oblongata is a structural constituents of 

hindbrain. 

180.  Answer (2) 

 Macula lutea is present on retina. 

176.  mÙkj (1) 

 ekblulZ df.kdk VSaxksfjlsIVlZ ¼Li'kZ xzkgh½ dk ,d 

mnkgj.k gSA 

177.  mÙkj (4) 

 CNS esa efLr"d vkSj es# jTtq lfEefyr gksrs gSaA 

178.  mÙkj (1) 

 Øwjk lsjsczh eè;efLr"d dk ,d lajpukRed la?kVd 

gSA 

179.  mÙkj (3) 

 esMqyk vksCyksxsaVk i'p efLr"d dk ,d lajpukRed 

la?kVd gSA 

180.  mÙkj (2) 

 eSD;wyk Y;wfV;k jsfVuk ij mifLFkr gksrk gSA 

 

 
 

 


